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o} Economics of wealth
b) Political economy
c) Welfare economics
d) None of these

a} Not all wants can be sat
b} We will never be faced
to make choices.

c) We must develop
our individual waits

d) The discovery.of ne
is necessary to:

- satisfy wants:

s 10 decredse

gtural resources
egse our abiiity fo

(a) Marx

(b) Adam-Smith
{c} Lipsey

{d} Allen

" the governments.

a) Absolute  scarcity and
resources in less devetoped c
Relative scarcity i.e. scarcity.i

business firms,
‘governments, and the nhafion as a
whole,

- households and business firms, but not

c) local and state govemmen’rs but not

 the federal government.

d) households and governments, but not
business firms.

a} cannotbeincreased in quantity.

b} do.not:exist in adequate quantily 1o
satisfy the requirements of the society.

c) “are of primary importance in satisfying
social requirements.

d) are limited to man made goods

a) The pre-independent Indicn
economy, where most people were
farmers.

b} A mythical gconomy  where
everybody is a bilionaire.
c) Any economy where income s

distributed equally among its people.
d) None of the above.

CA Mc:;é«mssh Vora (MVSIR)
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a) does not apply ’ro rich.

S S T ; SRR countries .
a) Robbin's definition b) applies only: to ’rhe Veloped
b] Marshall’s definition countries
¢} J.B. Say's definition T ¢) implies that consuriers ts will be
d) Adam Smith's definition o - safisfied in a socm:lhsh ystem

: d) implies thot umers wants  will

v.satisfied

never be comp

a) Alfred Marshall
b) A C Pigou

¢l Adam Smith
d) JB Say

By considering, ‘the problem of

Alfred Marshal

b) J.B.Say ~ production diskibution & exchange of -
c) Adam Smith - - wedlth, “they. focused: atfention on

important issues with which economics

. isconcerned. _

b) By restricting the definition of wealth -
to material wealth & the neglect of -
immaterial services, they narrowed
down the scope of economics. ‘

c) Both (A} and (B}

d) None of these

A.C. Pigou,

Alfred Marshall
b) Samuelson
¢) Robinson
d) Adam Smith

s Applied Economics that fills the gap
befween econom|c theory and

Isjust a theory concept a) The resources are fimited
¢} Trains_managers how to behave in b) The wants are unlimited
“recession ¢} The resources are unlimited
d) Provides the tools which explain d) Bothaandb
various concepts

Mc:lfmg des DhOTO(“OpEC xerox, sharing or selling MVSIR's books is nat allowed 1 will trod
to strict legal action with monetary penalties - :
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Welfare Economics
b) Development Econo
c} Applied economics;
None of these

a) The possession of goods and services
by USA has enormously increased to
exceed their wants,

b) The offluent and developed countries
of USA and Western Europe face the .
problem of scarcity even today os
their present wants remain a head of

~their increased  resources  and .
- capacity fo preduce. .

c) The affluent and developed counfries
are not facing the problem of scorcfry it

d) None of these

; High demand of resources
Absence of Substitutes
Mismanagement and mequoh’ry
All of these

Abstract and applies the

Microeconomics.

b} Involves . practical o:pp [ .
aconomic fheow in _ '__): “clecision FRREaR ] e ay i SR
making. L {a} Adam Smith

¢} Incorporates ool rom multiple {b) Robbins
disciplines. (c) Joel Dean

d} (b) and (¢} ab; () Alfred Marshall

a) -French a) True
b):Latin .- o) False
c) Greek c) Partly True
d) German d} Partly False

vicking pdfs, photocopias, xerox, sharing or selling MVSIR's books is not c:ltowed Hwill lead
to strict legal action with monetary penalties

CA Mohnish Vora (MVSIR) ' mvsirin




MCQ Compiler

CA Foundation Dec 2023 nomics Chapter1 -

Q) Scarcity of Resources a) The study of economics

b) Unlimited wants - all problems will be
c}- Alternative uses _ _ tackled. _
d) Aloftheabove. =~ = b} The study of economi

. that dll problems will be

tackled. S
c} The study of &g
‘enabie a student
. problemi |n

a) Rational
b) irrational
¢) Emotional
d) Indifferent

a) it ensure that all prablems will be

appiopriately fackled B — e
b) It helps in identifying problems L Decision Makin

c) It enable to examine a problem in its

' nghf perspec’nve -

d) It gives . exact solufions to l-r:\e
problem -

a) The resources required to satisfy our-
unlimited wants and ﬂeeds are finite,
or scarce, :

b) Itis crucial to understand how we can
best allocate our scarce resources to
satisfy society’s unlimited wants and |

Robbins needs,
b) ‘Marshall c) Resources have alternative uses.
c) Pigou

. d} All the above
-d}) Adam Smith

a) Should our firm be in this business?

b} How much should be produced and
at price should be kept?

c) How will the product be placed in the

market?

How should we decrease

unemployment in the economy?¢

~Compl
b} Simple, Several forces
c} Simple, single factor d)
d) Complex, Single factor

Making pdfs, photocopies, xerox, sharing or selling MVSIR's books is not allowed. It will lead
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one's choice be arived at logically
and without error.

one's choice be consistent with one's
goal. '

one's choice never vary.

the consumer plan’s to attain the
highest possible level of satisfaction.

~India. g _
Analyse the cayses .of failure of
industry 1IN f

“employment

Lid.
identifying the ca

ding” large scale

Mind
Environment
Decisions

d} None of these

' Micio Vs. Macto Economics

_\n-éa’r’ne‘rrics.
e of the cbove

Normative and positive
Micro and macro
Internal and exierna
None of the above

applied
aggregate

experimental
none of the aboy

- of coffee on the quantity of tea

The effect of increase in wages on the

profitabifity of cotton industry -
The effect on steel prices when more
steel is imported _'

The effect of an increasing inflation

rate on living standards of people in

Indicy :
The effect of an increase in the price

consumed

a):Macro=Economics.

b} :Descriptive Economics.
c) Micro-economics.

d} Normative economics

all aspects of scarcity.

the national economy and the global
economy as a whole.

big businesses.

the decisions of individual businesses
and people.

CA Mohnish Vora (MVSIR)
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Micro economics is important for study economics is badse
- of a particular household and a analysis of economic
particular firm

b) Macro economics is important for
- study of economic conditions of «
country

c) None of the above

d} Bothaandb

a} National Income’

b} - Generat Price’ Ievei

c) Factor Pricing

d} National Scwmg and Investmem

Micro economics
Macro economics
None of the above ™
Bothaand b

al Employment and economic growth
are studied in micro-economics.
b) Micro economics deals with balance

of frade _
a) the écohomy as a whole c) Economic condition of a section of
b} the electronics industry the people is studied in micro-
c} ___’r_he s’rudy of individual economic economics '
-behaviour d) External value of money is dealt with in -
d} the interactions within the entire micro-economics

economy

r('/tdkir]g pdfs, photocopies, xerax, sharing or selling MVSIR's books is not allowed. It will Ier:d_i:?’f
: to strict legal action with monetary penalties
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a) Micro  economics studies  the
economy In ifs fofality.

b) In micro ‘economics we make d
microscopic study of the economy.

¢} Micro economics deals with  the
division of total’ output ~among
industries and firms & the allocation of
resourcas among competing uses.

d) Both (B) ond (C} '

b) Study of firms
¢) Factor pricing

d} All of the above

a) The price of mangoss.

b} The cost of producing a fire fruck for _'
the fire department of Delhi, India.
c) The, quantity of mangoes produced:;
forthe mangoes market. g _
d) The national economy's annual rate d} None of the above

aj imicroeconomic factors
| _'mdcroeconomic factors
)s Both (o) & (),

ofgrowth. -~ . . =~

a) Macro environment
b} Micro environment
c) Both (a) & (b}

d) None of the above

a) inflation
b) Unemployment
c) Growth

All of the above

a) ’_ ngcro Eg:onon:xics a) the price of goods

b} Micro Economics b) the price of services

c) “Econometrics c) the price of economic resources
d} Both {a) and () d) all of the above.

Making pdfs, photocopies, xerox, sharing.or selfing MVSIR's books is not allowed. 1t will lecid]
to strict legal action with monetary penclties
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a) Factor pricing

b) Location of iIndustry

¢). Consumer Behaviour -

d) External vcxlue of currency :

a} Behaviour of firms
b} Location of industry
c) Consumer behaviour
d} Foreign exchange rate

Nature of Business Economics

a) Planned econom alocate
resources N government
depariment '

b) Most transitio economies have
experenc oblems  of  falling
output and s g prices over the pos’r
decade. K

Thereis:a _greq’rer degree of consumer

planned.economies.
d} ‘Reducing inequality should be a major
~priority-for mixed economies.

Q) Unemploymeni rate decreases with
industriaiization

b) Economics is a social science that

studies human behaviour,

c) The minimum wage shouid be rdised
to Rs. 200/- per day

d} India spends a huge amount of
money on nafional defence.

CA Mohnish Vora (MVSIR)
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a) Positive Economics  explains  the

performance of the economy while
. normative Economics finds out the
reasons for poor performance.

b) Positive Economics describes the facts
of the economy whie normative
Economics involves  evaluating
whether some of these are good or
bad for the welfare of the people.,

c) Normative Economics describes the
facts of the economy while positive
Economics involves evaluating
whether some of these are good or
pbad for the welfare of the people.

d) Positive Economics prescribes white
normative Economics describes.

How national

What actual wage rél
under monopsony i’

exploﬂed?
d) None of thqse -'

arof these

. hature.
b} Business Economics has o

connection with statistics.
c) Business Economist need if

about macro variables.
d) Business Economics s
Managerial Economics

Business economics is normative m_

a) Positive, Normative

b) Qualitative, Quantitative
c) Both {A) and (B)

d) None of these

a) Large govér nt deficits cause an
economy to grow more slowly.
b} People-'":work harder i the wage is

highe

c) The unemploymen’r rate should be
less. ..

d)’ Pnnhng too much money causes
ﬁflmzon

a) Heolth core basic facilities” to be
orovided to all citizens.

b) With Indusiriclisation, unemployment
rate decrecses,

c) On national defence India spent huge
amount of money.

d) None of these

Malftnq pdf' pho?oco;)les xer
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a) ldedlistic

b) Pragmatic

c) Both [A) and (B}
d} None of these

a) True
b) Faise
c) Partly True
Partly False

Positive Science
b] Normative Science
¢) -Both {a) and {b)

None of the above

investment,

) Chonging the leveliof
better way of managi
than using toxdﬁo
expenditure. &

Higher levels -

an’ the relctﬁons.hlp i

analysis of
- between the price of food ond the.
guantity purchosed..

determining how much income each
- person should be gudranteed.

c) determining the *fair’ price for food.

d} ‘deciding how ’ro d|sirabu’re the output
- of the economy '

b}?;'}FGIse
c) Partly True

a} As normative science, Economics
involves value judgments

b} Robbins has made economics as a
form of welfare economics

¢} The Law of Demand is always true

d} None of the above

d) Partly False

(‘;‘:A Mohnish Vora (MVSIR)
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! e What should be
a) Itis a normative Science b) What to produce
b) Hisinter discipiinary . o ¢) How fo produce

c) Pragmatic in Nature d) When fo produce
All of the above . : : _

Incidence
) Faimess

c) Incentive to work _ _
d} All of the above | Tradifiongl:economics

{a) Fairness to tax
(b) Incidence to tax
(c) Effect of tax on mcenhves fo work
(d) None of ’rhese -

3] Based on assumptions
b} Tackies practical problems

c) - Considers profit only. -
d) Considersinternatvalve

Scope of Business Economics

a} Business economics,

science .

b) Business economicsisan-art : '

¢} Business economics is based largely on a) Capital Budgeting
micro economics b) R%sk_AnclIyms

d) Business ' does not c} Business chles
incorporate ments of macro d) Accounting Standards

economic

Making odfs, photc

50 [ Businéss econo i 8 |includes

0) smence | a) Demand analysis
b)-An art b) Cost analysis
c) Both'science and art ¢} Inventory management
d} None of these d) All of these

heopies, xerox, sharing or selling MVSIR's books is not allowed. 11 W||! truc
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a} Whether to - produce
a) has ' _consumer goods or capitgl
b) hasno ' o b} Whether to lay empha
¢) hespartial . Intensive techniqu

‘None of these ' o

Capital Budgeting
Risk Anclysis

Business cycles
All of the Above

2oze b

Cclojiwvjoolminan|lwiNn] =
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_ Centrat Economics Problems

a) Economic system
) Business system

c) Capitalist economic system
Socialist economic system

Who produces what?
b) When are goods produy
c} Who consumes whats
How are goods pro_' ceds

. comparing the success of command
versus market economies, -
b) guaranteering that production o
in the most efficient manner. -

income for every citizen.
d) allocating scarce resourc
manner that society's unl:
or wants are sofisfied
possible manner.

Consumer goods
b} Capital goods -
c) Defense goods
- Nong of these -

qa) Iobour surplus > economy where ’rhe
relative: price of capital is lower.

b} capital surplus economy where the
relative price of capital is lower.

¢). developed economy where
~technology is better.
d) developing economy where

technology is poor.

greaiter

lasser

c) {A)or(B).
None of these

Problem whqf to. produce relates to: -

chmce of goods and services

b) distribution of Income

c) choice of fechnique

d} market value of goods and services

to strict legal

CA Mohnish Vora (MVSIR)
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a) Developed Economy

b) Underdeveloped Economy
c) Labour surplus economy

d) Capital surplus economy

Right of private property <
b} Freedom of choice by the.
¢) No profit, No Loss moti
d} Competition

ners

a} The choice of goods and service
b} Distribution of income

¢} The choice of technique

d} None of these :

a) Output is reshicted to the Iem:’redﬂ?‘
availability of resources o

b) Consumer do not have as much

~ money os they would wish

c) There will always be cerfain &
unemployment

d) Resources are not always alloce

mment policies are the primary
ces that guide ’rhe dec:|5|ons of firms
and households

an op’rlmum woy

income  will
dls’rnb_u’redi o

c) Men of‘ Initictive and enterprise are
“not rewarded. '
d) Profits will tend to be low.

Socialism
k) Capitalism

c) Mixed economy
d) Communism

a} Socialism
b} Capitalism
¢} Communism

d) None of the above,

Making pr‘if; pholocopies, xerox

, sharing or selling MVSIR's books is not allowed. it will lead

to strict legal action with monetary penallies
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Socialist Economy S :
D) Mixe.cl E'cononjy_ : a) Socialism and plann
c) Capitalist EConomy A b) Capitalism and laissé
All of the above

-demand does not
)l need of the society.
lockdown are -very
‘under capitalism

sm - usually functions In o
‘demaocratic framework. '
1e of these

Self interest _ | 0) The pc’r’re"r
b) Private property ' represen’r ’rhe
c) Competition

d) Specialization

Central planning authority
b) Price mechanism - Gy Sttt ALt b
c) Administered prices _ | @) Voting done by consumers
d} Voting done by customers - b) o central planning authority.
c). consumer preferences.

the level of profits of firms.

demand
b} supply
c) efficiency
d) Prices

. groups. 25| Consumer ls ‘soverélgniunder
ct The free market economy uses the i - =
“impersonal forces of the market to a} Free Economy
“solve ifs central problems b) Mixed Economy
d) None of these c) Controlled Economy

d) Both (a) and {b)

Making pdfs, photocopies, xerox, sharing or selling MVSIR's hooks Ts not alfowed. It will lead
to strict legal action with monetary penallies.-
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Socialistic Economy

a) Hasticity of demand
b) Quantity demanded
c} Supply

~d) Quantity supplied

a) Market Price
b) Consumer preferen -'es~-
c) A central planning auth
d} The level of corpo

Right {o Private property
b) Freedom of economic choice
c) Absence of Consumer choice
d) Competition

a) USA
c) Germany - o Gy socialism

d) India | . Capitalism
‘Mixed economy -
None of the abov_e

a)
-b) Socidlistic economic syste

Mixed economic system ; a) Prices determined by forces of

Caoitalist demand and supply . _
c) Capitalist economic b} Prices determined by sellers in the
d} Planned economic systém market

c) Prices determined by an external
authority  which is  usually the
government

d} None of the above.

operative effsmer'icy under cc:pi’rahsm
-apitalism there is precedence

(c) Due to:ihcome inequatity the pattern RS, RS K
of demqnd ‘does not represent the real Q} SOClCﬂIST

needs of the society. b} Capitalist
(d) ‘Capitalism leads fo formation of c) Mixed economy
monopolies d} None of the above

Making pdfs, photocopies, xerox, sharing or sefing MVSIR's books is not allowed, If wil lead
to strict legal action with monetary penalties
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a} to generate profit
b) directly for use

c) Both {A} and (B}
d) None of these

a) Market Forces
b} Government
c) Both (a} and {b)a
d) None of these

a) Production is planned or coordinated
and sufiers from the business cycle

b} Production suffers from business cycle

¢) Production is planned and does not
suffers from business cycle

d) None of these

a) it provides equal access to health care
and education

b) Workers are no longer exploited bé
they own the means of product:on

c) Profits are not spread equitably a
workers according o their”
coniributions,

good of the whole

Mixed Economy

Right to work &
b) Absence of comy
c) Right to privaie.p:
Bothaandb

a) dll economic decisions Gre ic:ken by
the central authority.

b) ali economic decisions are ’rcken by
private entrepreneurs.

c) economic decisions are partly taken:
by the state and partly by the private
enifrepreneurs.

d) none of the above.

a} Entrepreneurs able to make profit

a). ‘Workefs
b) Consumers
c) Voters

d) Government

to strict legal action

CA Mohnish Vora (MVSIR)
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b) Progressive taxes to reduce inequality

c) Government's provision of public
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a) Normative  economics s
concemed with value judgment.

b} A market is a process that reconcifes
consumer decision,
decisions and fabour decisions.

c) A mixed economy has a ceriain level

of government intervention in the

economy along with pnva?e sector

ownership of the economy

Both (b) and (¢} '

not .

production :

both markets and govemmen’rs for
allocation of resources
Mixed economy is

sociafism.
c) It is very difficult fo maintain o proper
balarice between prlvo’re and.]
sectors.
All of the above

Mixed economic system depends on -

not  always . 0_'-: 5
golden path between capitalism anelis

‘economy,

Q) Ih « the
production paossibiiities frontier reflects
the maxim unt of one good
that can be:produced when o given
amount of “the other good s
produced,

b) Microec nomics is the study of the
behavior of the economy as d whole,
c). Positive economics focuses on welfare
“of the-people of a society
None of the above

* CA-Mohnish Vora (MVSIR)

a} Mixed economy s
‘golden path' betwe
and sociaiistic econom

‘golden
economy an
Local ecan

‘rcny of resources is the key
biem of dll economies
Economic inequalities lead to wide
differences in economic opporfunt’rles
to people E
¢} Economic ms’rqu’ry is very common
under capitalism

Freedom of entferprise s one of ’rhe_
- main charac’renshc ~of  command

economy

a) Efficient business decisions
b) Efficient government decisions
o Efficient non-governmental decisions

d) Efficient economic decisions

Making pdfs, photocopies, xerox, sharing or selling MVSIR's books is not allowed. It will lead]
to strict legal action with monetary penaities
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{a) What fo Produce?
(o) What Provision (if any) are fo be made
for economic growth?
(c) How to Produce?
(d) All the above

Social economy
Political Economy
Mixed Economy

{c) 1848
{b) 1905
(c} 1952
(d) None of these.,

a) Socialist
b) Mixed

c} Capital
d} Restricted

given to  personal.
efficiency :
Importance give to productivity. -
Incentive for economic decisions.

Rapid growth ~and  balanced

- economic development

1

2

3

4

5

é

7

8

9 "D | 4 | B

10 D | 50 | D

) O one S
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Basics of Deman

Economics Chapfer2

a} Flow Concept
b} Stock Concept
¢} Both (a}and (b}
- None of the above

a) deszre bc:cked by ability ’ro pay for fhe
commodity, _
b) need for the. commodity “and
willingness to pay for it '
c) the quantity  demanded - of that
- commodity at acertain price. - - -
d) the quantity  of the commodity
‘demanded at a cerfain price during Supply

any particular period of time b} Price
¢} Demand

None

hese

Q) The deswe for a commodlty given a’rs

- price  and those” of related
commodities ,

b) the entire relationship between the
guantity demanded and the price ofy
a good cother things remaining the.
same _ '

¢} wHImgness to pay for c: good |f i
is larger enough

d) ability fo pay for a goed

- a} the same thing.
b): _nof the sclme ’rhmg
¢) (A)or(B)

d} None of ’rh__es_e o

Determinants of Demand

The price of a commodity has no
relation with the demand of that
commaodity

b) The price of a commodity has positive
relation with the demand of  that
commodity

c) The price of a commodity has
negative relation with the demand of
that commodity

a} __._Deswe
D) :jf{'MeGns to purchase

d) Ceterus paribus, i price of a
c} Willingness fo use those means
d} An (if)fgfhe above commaodity falls, the demand of that

commodity would also fall,
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a) Tea-and sugar.
b} Tea and coffee.

i ¢) Penandink.

d} Shirt and frousers.

b) decreuse because’
c} remain  the sam

income is incrediséd
d} decredse asrgal.

o) Tastes and preferences.
b) Quaniity supplied.

c} Income of the consumer
d) Price of related goods.

a) Coke will decrease.

b) 7-Up wil decreclse

¢} Coke and 7-UP will increase.
d) Coke and 7-Up will decrease.

Normail goods
Complements
Substitutes

Inferior goods

the price of one (ceteris paribus) leads
all-in the quantity demanded of -

When commodl’rles are complements,

a fall in the price of one {other things

. being equal) wil cause the demand
of the other torise

c) As the income of the consumer

" increoses, ihe ~démand  for the
commodity increases aiways and vice |
versa.

d) When a commodity becomes
fashionable people prefer to buy it
and therefore its demand Increases

a) - increase; increase

b} incredse; decrease
¢) decrease; decrease
d) decrease; increase

a) the price of related goods, consumer
incomes

b} Consumer incomes, fastes

c) the costs*of production, bank opening
hours

d) the price of
preferences

related  goods,
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q) Income of consumer

b) Prices of other related goods

¢} Taste and preference of consumer
d) 's own price: . :

a) Relatively High
b) Relatively Low
c) Unoffected .
‘None of the adbove,

q} Increase; increcse

b} Increase; decrease
c) Decrease; decredse
d) Decrease; increase

1) B WI|| decrease
b) Cwildecrease .
¢) Band C wil increase -
B and C will decredse

_ Complemen’rc:ry goods
Independent goods
Normal goods. ...+ .

Coffee and milk
b) Diamond and cow.
¢) Penand ink

-Mustard ol an

a} Demand of coffee will decrease.
b} Demand of coffee will increase
¢} Demand of coffee will not change.
d) Demand of tea will decrease.

-_':Compiemen’rs

b) -inferior goods
c) Normal goods.
d) Substitutes

a) Substitutes

b) Complimentary goods
c} Normal goods

d) None of the above

CA Mohnish Vora (MVSIR)
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a) Demand rises only up to d certain
level of income & decreases with an

_increase in money income beyond

this level.

Increase in income leads to higher

demand, but this increase will be less

than proporﬂono’ré to the increase in

income.,

Demand rises beyond a certain level

of consumers' income and keep rising

as income incredses.

Increase in income leads to lower

demand.

b)

Increase in income leads to higher:

than proporhono’re ’ro the increas
income -
increase  in income leads" to 16
demand, but this decrease will b
than proportionate fo the i
income

increase in income
change in demand
Increase in income. |

o)

there is.a decrease in the importance

“of these goods

~there'is no change in the importance
of these goods

d} None of the above

IIl§ onty.
I, I, and H

demand, but this increase will be Iess H

‘Increase in income ieads to higher
- demand, but this increase will be less

mand rises only up to a certain level
income & decreases with an
increase in money |ncome beyond this
level.

than proportionate to the increase in
income,

A same good may be normal for one
condition and may be inferior in.
another. .

(a) & (c)

Avaiiability  of cred|’r facilities
encourages consumers to buy more.
Generelly, larger the  size  of
population, lower will be the demand
for goods.

Availabitity of loans at lower interest
rate encourages consumers 1o buy
more.

The propensity to consume of rich
people is relatively less than that of
poor people.
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a] Goods which are modem command
higher demand

b} Goods which are more in fashion

| .. command lower demand

c) Consumers may perceive o product
as obsolete and discard it before it is
fully vtilized and prefer another good

~ which is currently in fashion.

d} None of the above .

Q) .[l_}&( )clr'fo
o) {1} 8.2) arc.

a) Demonstration Effect.
‘b) Shob Effect I
c) Bandwagon Effect
Veble tffect

Adam Smn‘h
b) James Duesenberry
¢) Alfred Mdrshal

' None of these -

. Veblen Effect
Snob Effect.
<) Bondwc:gon Effect
d) Price Effect”

c) _.,-demond for consumer goods will be
~comparatively less
d) ‘propensu’ry to consume of the country
as a whole will be relatively high

a} Propensity to consume of rich people
is the same as of poor people.

b} Propensity to consume of rich p'eople
is higher than that of poor people.

c) Propensity to consume of rich people
is lower than that of poor people.

d} None of the above.,
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a) Veblen Effect

b) Snhob Effect

c) Demostration Effect
d) Price Effect

ww Rl
S e
wama'

" a} Substitute goods

b} Complementary goods :
¢) Unrelated goods

d) Producersgoods .. - . -

Law of Demand - Basics

b) _-gBOndwagon effect
¢) -:Snob effect
d) Demonstration effect

a} income of the consumer and the
quantity of a good demanded by him.

b) price of a good und the quantity
demanded.

c) price of a good and the demand for
its substitute.

d) quontity demanded of a good and
the relative prices  of its
complementary goods.
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a) Law of demand _ a) Consumer's reatincome |
b) Factors offecting demand b} Consumer's real incomes
¢} Quantity demanded c) There is no change in the
d) None of these . o of the consumer

' None of the above:

Price of commaodity does not change
Price of substitutes doeés not change
Income of consumer does not change
Price of complementary goods does
not change

aoval

ome effect and substitution effect
rk in opposite direction

Income effect and subsiitution effect
work in same direction

It leads consumer to purchase less ofa.
~ good and more of 1he subs’n’ru’re

~d) ‘None of these :

a} Price-supply relationship
b) Price-cost relationship

c} Price-demand relationship
d} Price-income relationship

Giffen

Paul A Samuelson  Neadi

Alfred Marshall _ a) eganve
Pi : b) Positive
que

: c) Zero

d) None of these

-Rationale of Law of Demand

a) income  effect  outweighs  the
= S substitution effect
ay income effect. b} substifution effect outweighs the

b} Substitution effect income effect |
c) Complementary effect c) substitution effect equals the income
d} Price effect effect

d) None of the above »
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q)
b)
c)

d)

substitution effect is negative .
ncome effect is negative
negative income effect is
substitution effect

negative income effect is greqier than
substitution effect

less than

substitution effect plus price effect
sugstitution effect plus income effect
substitution - effect . pius demonstration:
effect

substitution effect minus income effect

The consumer's reci

incredsed.

The consumer's re has
decreased.

The product s “relatively  less

expensive than befal
Other products, ¢
than before '

less expensive

the go ‘are closer subshtute

there is ‘Jower cost of switching to the
5:;-subst|1u’re good.

“there::'is  lower inconvenience while
swifching to the substitute good.

afl the above

CA Mohrish Vora (MVSIR)

a)

c}

Law of diminishing margin
Demand for necessities =
Arrival of new consumers
Multiple uses of same com od:’ry

b)

d

b) it ke
: commodities  and  induces
sumers  to  substitute  the
modity whose price has fallen for
other commodities '

Consumers can use the commodity for
varied purposes and therefore their
demand for such commodl’rtes will
increqse

All of the above -

lero
Negative
. Positive
Lower cost,

a) horizontal.

b) downward-sloping to the right.
c) veriical.

d) upward-sioping to the right
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. lcsC hqp’rer2

a) Prestige goods
b) Snob.goods

c). Veblen goods
d) Al of the above

Ignorance

Speculdiive effect
fFear of Shortage

All the above

a} Substitute good

b) Complementary good
¢) Conspicuous good

d} None of the above

‘increases

For which demanc ases as price

That hqve'-" ;néome elasticity of

Giffen goods
b) Complementary goods
c) Substitute goods

None of the above - -

Veblen effect
Giffens paradox
Speculative effect;
None of the above

D000

Law of diminishing marginal utility
Income effect and substitution effect -
Either {a} or (b)

None of these

R s

a) _._;fmoney voiue
b} ‘Use value

c) shobvdlue

d} None of these

Conspicuous goods
Giffen goods
Speculative goods
Conspicuous necessities
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- Horizontal
Vertical
Upward sloping to the rlgh’r _
Downwaird slopping to the right

negative
price and

Giffen  goods  exhibit
relationship  between
demand

Conspicuous goods exhibit’” positive
relationship bex‘ween price and
demand

Incomplete information and irrationel:
behaviour of consumer is one of the
- reasons of excephon to the law of
demand

c)

d} Llaw of * demand s’taies
relationshis  between price
commodity  and its ity

demanded

Glffe ."go
__Specula’nve goods
- Conspicuous goods
“White'goods

CA Mohnish Vora (MVSIR)

Demand Curve & Demand Schedule

""fr'ticoi axis
-has a nego’rive slope,

quantity on the-horizontal axis
Demand, curve has ¢ negcmve siope

Atity'on the vertical axis

The preference of the individual.
His monetary income,

Price of the commodity

Price of related goods.

A decrease in the demand for good X.

No change in the quantity demanded
for good X.

A larger quantity demanded for good
X.

A smaller quantity demanded for
good X,
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a) Demand schedule
b) Market demand scheduie
c} Supply schedule

+.d) tMarket supply scheduie

¢} Remain at the.sami

a} Shift towards left
~ substitutes
b} Shift towards ngh’

substitutes

d} None of the ab

a) Always
b} Never
c) Sometimes
. Often.

Q) 'uhlny fheory

theory
c) information provided by
consumers :
d) Actuad market

observations,

increase in demand.
A decrease in demand.
¢} A change in quantity demunded.‘
d) A change in demc:nd S

b) the new opproclch to con m' 3

___conce_ ed.
incredse in the prices of other goods.

d) decrease in the income of purchasers.

a) The demand for rice will increase and
the demand curve will shift to the right

b) The demand for rice will decrease and
the demand curve will shift 10 the left -

c) The demand for rice will be
unoffected as if is a necessity

d) The demand for wheat will increase
and the demand curve will shift to the
right
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curve for chicken will not change

b} Increase and the demand curve for
fish wilt shift rightwards.

c) Not change but there will be O
movement along the demand curve
for fish. '

d} Decrease and the demand curve for
fish will shift leftwards.

Increase or decrease but the demand

Increase the number of - compufers
bought.

b} Decrease the price but increase the
number of compu’rers bought.

c) Increase the price of computers.

computers bought

d) Increase the price and number of

Contraction of demand
b) Expansion of deman
¢) No change in demani
None of the abov

a) Increc:se:::’rhe number of cameras

b] Decrease ihe price but increase the
“humber of comeras bought
c) increase the price of cameras
d} Decrease the price and decrease in
the number of cameras bought

 Making pdfs, phot
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mond which may be
ise in income cnd ’rhe.
good

@nge in demand which is caused
@ rise in income and the good is an
inferior good

A shift of demand curve caused by a
rise in the price of a substitute and the

- good is a normal good..

A fall in the price of o substifute with
the price of the good unchanged

A fall in the nominai income of the
consumer and a-fall in the price of the
normai good

A fall in the price of a complementary
good with the price of the normal
good unchanged :

A fall in the price of the normal good,
other things remaining the same.

ocopies, xerox, sharing or selling MVSIR's books is not allowed. it will lead
to strict legal action with monetary penalties '

vsir.in




MCQ Compiler

CA Foundation Dec 2023

c)

~d}*None of those

a) Remain at the same level
b) Shift towards right

Shift towards teft -

Increase in demand
b) Decrease.in demand
¢) Contraction of dema
Expansion of Deman

The demand for roller- coaster rides will rise

and the demand curve will shift 1o right

The demand for rolier coaster ride cannot-

be predicted as it depends on the tastes
of consumers for the ride

There will be an expansion in the demand |

for  roller coaster dive os it
complementary

None of the above

Increase in demand
Decrease in demanad
Contraction of demand
1) Expansion of Derriand -

¢) Expansion of Demand
b} Contraction of Demand
¢) increase in Demand

d} Decrease in Demand

Demc:n_ curve W|II shsﬂ ’ro The Ieﬁ
Démand curve will shift to right.

F._Demcmd will not shift, but the quantity
“of houses sold per month will increase.

Defviand will not shift, but the quantity
of houses soid per month will decrease

) Expansion of Demand

b} Contraction of Demand
¢) Increase in Demand
d} Decrease in Demand
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a) A decredses in demand
b) Achangein demand .

c} A confractionin demand
d) Anincreases in demand

a) O
b) Greater than 0 but

c} 1

d} Greater than 1

Price Elasticity of Demand -
Percentage Method

@) Equal to one.
b} Greater than one.
c) Lessthan one.
d) Zero.

price

for'a given 10% bhangé in.
demand changes by zero

per cent.

for a given 10% change in
price demand changes by 5%

price

for a given 10% change In |
demand changes by 10% [

for a given 10% change In
) prlce démand changes by

. 20%.

b) less Thc:m one
c) egual to one
d) can'tsay

(O)

mMaking pifs, photoco
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" Demand
for salt

Demand
for 15
bananas

Supply of |
- chicken - | -

Q} 60 units
) 45 units
c} 48 units

d) 54 units
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The bookstore is consideri
the price of no’rebooks

a) 25 units ' ' . price of its most exp
b} 75units = - I percent.

c) 100 units : ' s An auto produce
d) Ounits -~ e determining the' te

- R$100.
‘None of the,

Point elasticity of demand since 1? is d
small change
Arc elasticity of demand since it is a
small change '
Price elasticily based on average
prices method

~ Any of the above

8}‘%? a) Infinite
c) 15 b) More than zero
a) 2 c) Less than zero

_ . : d} zero _ _
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'Economics

a) - Elastic
b) Inelastic

c) Unitary elastic - _ :

d) Noneofthese- - - = "

Price Elasticity of Demand ~
Arc Method

given point . :
erceptson X-axis & Y-axis
tween two points

y of the above

Fri L LN §]

vl F 3 - 3
AUSAREILY HURAAR I EUHITSY

a) same in both cases by point method
of price elasticity of demand

b) different in both cases by Arc method
of price elasticity of demand

g} ?g c) same in both cases by Arc method &
)""5_515:'.25-?:"? different by poini method of price
g] 1,50 elasticity of demand

d} None of these.
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Price Elasticity of Dermandt -
interpretation of Vatues

d) horizontal.
b} Verticdl.
c) positively sloped.
d) negatively sloped.

a):;-Arc elasticity

b} Point slasticity
c) Price elasticity
d) None of these

a) more elastic

b} less elastic

c) Either (a) or (b}

d) None of the above

(Z‘Zﬁ Mohmsh Vora (MVSIR)
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a) Elastic.

b} Inelastic.

¢) Unitarily elastic, | o
d} Perfectly elastic. -

a} Quantity. demanded  will fqll by a
relatively large amount.

b} Quantity demanded will fall by a _
relatively small amount. 1 g 7eto -

¢) Quantity demanded will rise _in : b) Infinity - -
short run, but fall in the long ru ¢) Less than Unity

d) Quantity demanded will fal d) None of these

short run, but rise in the longir

a) perfectly elastic

: b} unitary slastic

b) Large, folf in demand. c) inelastic ' _
c)Smalllfall in quantity demanded. d) perfectly inelastic demand
d) Smdllfall in demand.
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a} When the slope of ’rhe
is zero, demand s, J%%Jm’r
when the slope 1§

e.

| | | sero, 5, K .
a} inelastic b) When the slope of the demand curve
b) ilGS’fIC " is zero, the elasticity'is also zero and
c} stagnant N . ~ when the slo infinite, elasticity is

d} fixed also infinite.

| o) If demand for product is less eldsfic.
b) If demand for product Is inelastic.

corect explanation of (A) = ¢} If demand for product has greater

b) Both {A) and (R) are true ar elasticity.
the correct explcmaﬂon o) d) ¥ elasticity of supply of product is
c) (A) is true but (R} Is fclse

farger.
(A) is false but (R) is i _

a) Cross elasticity of demand

b) Income elasticity of demand

¢} Price elasticity of demand & Price
elasticity of Supply

d) None of these

o) Inelastic
b} Elastic”
c} Perfec’rly Elastic
d} Perfectly inelastic
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| “q) Zero

b) Inelastic
c} Elastic

Remain the same.’
Increase. '
Decrease,

Any of these..

d) Infinite -

Price Elasticity of Demand ~
Tota Outlay Method

a} Demand is unitary elastic ond prlce
falls.

b] Demand is elastic and prlce fises.

c) Demand is inelastic and pnce falls.

d). Demand is metqshc ond prlces rl‘

The percen’roge

demanded than  the
ge in price,
change in quantity
grecl’rer' than the
percenfc:ge change in price.

Q_eiosflc

__Iinecar mand curve at a point at
“which. the ptice is very low and the
';;ﬁq_uqr)fr:z’ry demanded is very high.

v Ef Price Effect
Quantity Effectz Price Effect
Effect < Price Effecf

a) The percentage change in quantity

The percen’rqge change in quantity

‘Demand is elastic.

demanded is  less  than the
percentage change in pnce

demanded  is greater than the
percentage chc:nge in prnce

The consumer is opercxhng c:long a
linear demand curve at a point at
which the price is very high and the

guantity demanded is very low,

Afjun Is very fond of coffee and

therefore he has an inelastic demand
for coffee

Arjun has elastic demand for ¢coffee
Arjun's demand for coffee is relatively
less elastic

Arjun's  demand for coffee is uhit
elastic
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M

a} Increase .

b) Decrease

a) Lower the price pecause demand for ¢} Remain the same
the good is elastic. ' d) None of the above™

b) Raise the price because demand for '
the product is inelastic. .

¢) Roise the price because demand is
efastic,

d) We need information in order fo
answer this guestion.

The . percentage increase in ticket
rates. will. be always “equd
. percentage decrease in tickets sol¢
b} The percentage increase in
rates will be always greater 1ha
percentage decrease in tick
c) The percentage increase: cket
rates will be less than the:ipereeniage
decrease in fickets sold ™

ar

a) demand is-unit elastic and o change
in price does not affect sellers’
revenue. :

b) demand is elastic and a change in
price causes seliers’ revenue to
change in the opposite direction.

c) demand is inelastic and a change in
price causes sellers’ revenue fo
change in the same direction.

d) None of the above is correct

N B ° o
o a) Remain unchanged
tg:g;]eeot r than zero but less than one b) Increase
d} dfé”c;’rer than one ¢} Decrease

d) Any of the above
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q) Variety of uses for that.

a) Greaterthan 1
b) 1 . - .
¢) Createrthan O butlessthan b

b} Very low price of a ¢
c) Close substitutes for f
d} High proportion ¢f "t

income spent on it.

onsumer's

d) Noneof these

a) increase

b} decrease
¢) remgin unchanged
any of the above,

mc:ny substitutes

re is Itﬂie 1hmc—:- for 1he consumer o |

"djusT to the price change

Price effect
b} Quantity effect

¢} Income effect
Substitution effect

Determinants of Price Elasticity of
Demand

a) The good has mony substitutes.

b) The good is a luxury (os opposed To o]
necessity).

¢} The good is o small port of ’rhe
consumer's income. _

d] There is a great deal of time for the .
consumer to adjust to the change in
prices :

o)_ﬁ'_;-;Rela’flve elashcny
b)" Inelastic

¢} Unitelasticity

d) Perfectly elastic

a) Several substitutes, elastic

b) Several substitutes, inelastic
c) No close substitutes, inelastic
d) No close substitutes, elastic
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al Time Period
b} Tied Demand
c) Pricerange -
d) Al the above

a} Lesselastic
b} More elastic

¢} Parallel to X axis
d} Parallel to Y axis

a) Elastic : SR o
b) inelastic '
¢} Perfectly elastic
Relatively elastic

Salt
b} Food grains

c) Medicines

All of the above

a} The commodity musi.be

those who purchose f
b) The commaodity
substitutes.

demand con be forecasted with
ect accuracy

more the number of substitutes of
“commodity, the more elastic is the
demand.

Demand for butter is perfectly elastic.
Gold jewellery. W|1I hcve negative
- income elasticity - _

a) itis very expensive
b) it has a number of close substﬁu’res
c) it has alternative uses

d] none of the above

a) Its fallsunder luxuries

o} Ifs: consumphon can be postponed

c)lts substitutes are available in the
“market

d) Ifis’a'multiple use product

a) Salt, Smart Phone and Branded
Lipstick

b} School Uniform, Branded Goggles and
Smart Phone

¢} Salt, School Uniform and Medicine

d) Medicine, Branded Sports Shoes and

Diamond ring

M
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Q) more, inelastic demand
b) less, elastic demand

¢c) same, inelastic demand
d) same, elastic demand

e curve must be
-slopmg to the right.
%énvexny ‘of a curve implies that the
b) elastic, inelastic slope of the curve diminishes. as ons
c) inelastic, inelastic o moves from left fo right.
- d) elastic, elastic ™ . ¢} The income elasticity for inferior goods
Ql elastic, elashie " fo a consumer s positive

- | | d} The total effect of a change in the
Income Elasticity of Demand _ price of @ .good on s quaniity

demanded is called the price effect.

a) inelasiic, elastic

positive.
b} Zero.
'c) Negative.
infinite.

a} The price elasticity of demand is
negative; - the income e!oshcﬁy of

- demoand s negative.

b) The price elasticity of demand is
positive; the income elasticity of
demand is negative,

c) The price elasticity of demand is
paositive; the income elasticity of

a} Positive and iess than 1. demand is positive.
b} ‘Negative but greater than -1. d} The price elosticity of demand is
c) Positive and greater than 1. negative; the income elasticity of
d} Zero demand is positive.
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negative income elasticity of demand
income elasticity of demand less than
one

zera income elasticity of demcmd
income elasticity of demond is greciter
than one

Potatoes are ;nferl
There is O neg

income elasticity of demc:nd less than
one

negative income elasticity of demand
zero income elasticity of demand

unitary income elasticity of demand

‘@) Private school education is high
wanted by rich -
b} Private  school  education s
g necessﬁy ' '

¢) Private school education is o Euxury

d) We should have more private schools.

by

q

income. elq§1|CIfy of demand is one
Jincome elasticity of demand is greater
“than one

than one

income elasticity of demand is less

b) 1.15
c) 1.00
d) 0.15

to strict legal action
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a) Necessity

b) Luxury
¢} Inferior goods
d) None of these

a} ‘Both goods are normal goods in both
. citiesAandB - ;

1B} Good X is o normat good in both cities
» good Y is an inferior good in city A .

c} Good X is a normal good in both cities
; good Y is an inferior goodin city B i
d) Need more information to make an
- accurate comment .

inferior good ‘ a) less than one
luxury good b} greater than one
‘Necessity ¢} equalio one
can'tsay ' d} Zero

g bread Is-:
o).__:.;_;f:'ér'o- a) Inferior goods
b)-positive b} Luxury goods
¢) ‘Negative c) Normal goods
d} none d} Can'tsay
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a) Greater than one
b) Less than one

c} One

d} Zero

b) Negative income elasticity
¢) Fluctuating income elasticity

d) Zeroincome elasticity

a) Positive income elasticity .

Q) +2.5+
b} -2.5
c) 04
d)- +0.4 -

a) Income elasticity of new car= +2.50,

new car is @ normal good. Whereas,
Income elasticity of used car is -
0.375, used car is inferior good. -

b) Income elasticity of new car= -2.50,
new car is a inferior good. Whereas,.
income elosticity of used car s
+0.375, used car is normal good.

c) Income elasticity of new car = +1,50,
new car is ¢ normal good. Whereas,
Income eiasticity of used car is -
0.50, used car is inferior good.

d) Income elasticity of new car = -1.50,
new car is a inferior good. Whereas,
iIncome elosticity of used car is +0.50,
used cor is normal good.,

CA Mohnish Vora {(MVSIR)
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b)

c

»

d') :

.change in the price of a substitute.

The cross elasticity of demand for two
substitutes is posifive. _ _
The income elasticity of demand is the

percentage change in  qguantity
demanded of a good. due to «

The cross elasticity of demand for two
complements is negative.

The price elasticity of ‘demand ]
always negative, excep’r for Giffen
goods.

Infinity
1
5

Lero

Luxuries
Necessaries

Complementary good
None of these

o) differ
) Some
c): Can’ ’fsczy
d) ‘Bothi(a) and (o)

-4

price expressed in terms of money
what you get paid for babysitting your
COousin

the rafio of one money price o
another '

equal to g money price
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a) The goods are perfect complements Positive
and therefore have to be used b} Negalive
together c) Zero

b} The goods are perfect substitutes and Can'tsay
can be used with ease in place of one
another -

c) There s a. high degree of
substitutability between the two goods

d} The goods are neutral and therefore
cannot be considered as substitutes

Positive
lero

Q) Positive

b) Negative

c) Lero

d) Always less than one

“g) Positive
b) Negative
c} Zero

d} One |

a) zero

b} greater than zero
¢) less than infinity
d} infinite

Quantity of Chocolates

>

C upﬁ nf la: - 3;: » A
“these. two
respecﬂvely cure
a).:Rs, 10. and Rs 20 a) Positive
b} Rs 20 and Rs. 10 b) negafive
¢) Rs.10 and Rs 5 C) zero
d) Any of the above d) infinity
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Quantity demanded ui Good Y )(

complements
b) Good X ond GoodiY are perfect
substitutes

substitutes =
d) Good X and Good Y are close
subsh’rutes

CI) Good X c::lnd Good Y are perfec’r

c) Good X and Good Y are remofe '

- for commodiiy Z decreuses
Oio 75 unifs -

e

Making pdfs, photocopies, xerox, sharing or

Q) luxury good

b) inferior Good

¢) normai Goed

d) none of the above

a) Demand is unit elastic

b) Demand is highly elastic

c) Demand is perfectly elastic
d) Demand is inelastic
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a) 0.6
b) 0.4

lero

One
infinite .

| @) demand curve slope upwards

c) demand curve is perfecily ela
none of these.

c)
d

Infinite
Cne
lero :
None of the above:

b) demand curve slope downwards

< Jero
>iero

< infinity
Infinity

+15

b} -1.5 -
c) 25

d) none of these

1 {unit elastic)

less than 1
greater than |
fero

CA Mohnish Vora (MYSIR)
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a} -1.6
b} 1.6
c) 2.6 -
d) 2.6

a} Remote substitutes
b} Close substitutes
c) Weak complements
d} Strong complements .

a) ltis perfectly elastic
b) Itis elastic
c) His perfectly inglastic
d) Hisinelastic '

a) 2.5 a) 0.4
b)1.0 b) 0.6
c) 166" c} 1.25
d) 2.66 d) 1.50

Making pdfs, pholocopies, xerox, sharing or sefling MVSIR's books is not allowed. It will tead
to stiict legal action with monetary penaities

A Mohnish Vora (MVSIR)




MCQ Compiler
CA Foundation Dec 2023

a) Luxury good

) inferior good.
¢) Normal good
Nothing can be said.,

a) 0.25
-} 0.25

a) 250 . a} Negative

b) -2.50 - b} Positive

c} 1 50 c) Always zero

d) -1.50 d} None of the above
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Demand forecasting
Demand function
Demand éastimation
Demand Analysis

Demand Forecasting

Durable good

b) Non-durable good
c) Producergood \
None of the above .

a) supplementary demand -
b) intermediate goods

c) derived demand

d} complementary demand

Derived Dema
Direct Deman

a) 1t is a function of the profitability of an
enterprise

b) It depends on the supply of
complementary factors

¢} Its stems from the demand for the final

o) Budge’r Anolyms product | '
b) Demand forecasting d} It arises out of means being scarce In
c) CostAnalysis relation to wants

d) None of these
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_Economics Chopler2_

a) past - behaviour patterns of some
related events

b} prevailing trends in the present

c) {a) & {b)

hone of the above

a) Long term forecasting is f
’ro five years cmd more

Long term forec:czshnv
months or less than
generolly useful in stra) gzc decisions,
or about two
. provides
strategic

a) efficient production
process selection

b} budgetary planning

¢) Cost control

Al of the above

plonning & [

a) Barometric Method

b) Consumer Clinics o
c) Survey of Buyers’ lnten’nons -
d) Classical Method

a) Demand fore ¢ ‘can be at the

internationa

depend 'pon the area of operohon of
the firm:in the present as well as what
s proposed in future.,
d} Demand forecasting can be done for
asmall firm in a local area

a) Macro-Level Forecasting
b} Industry-Level Forecasting
c) tong Term Forecasting
d) Firm-Level Forecasting

Hhot
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a) Firm's demand

b} Autonomous Demand
c) Derived Demand

d) Short Run Demand
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a) -Grass Roots approach

b) Collective Opinion Method
¢) Controlled Experiments

d} Regression Analysis.

a) Long-Run Demand
b) Short-Run Demand
c) Derived Demand

Autonomous Demand

Q) These goods do not quickly:

b] These goods yleid utility
of time

c} These goods meet
demand

d) These goods can be:

than once

current

Bumed more

a): QCompIe’re enumeration method
b]:-:__';Somple Survey Method

c} End-Use Method

d] Delphi Technique

method or grass o
This method s 5

forecast
This me’rhod-- o

Delphi Technique
- Regression Analysis

Survey of Buyers’ Intention
Grass Roots Approach

Collective Opinion Method
Survey of Buyer's intention
Barometric Method

Expert Opinion Method
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a) Salesmen may be unaware of the

broader economic changes which
may have profound impact on future
demand

b) This method is subjective as persondl
opinions can possibly influence the
forecast

c) Salemen may not agree to forecast
the sales

Leading Indicator
Lagging Indicator
Coincidental Indicaf

d} (a) & (b)

onomous Demand
1g:Run Demand

a) Collective Opinion Method
b) {drend Projection Method

c} Barometric Method
d} Expert Opinion Method

Survey of Buyers' Intentions

Expert Opinion Method
Cofllective Opinion Method

None of the above

heterogenous with regard 10 Income,
tastes, etc

c} Here. market s’rud|es and experiments
are haucted on  consumer

behaviour under actual, though

.;_'com‘rolled market conditions

d) The moarket divisions here must be
‘Homogeneous with regard to income,
tastes, etc

Expert Opinion Method
Collective Opinion Method
Survey of Buyers' Intentions.
None of the above
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a) data required for estimating demand
for producer goods {capital goods) is
growth prospec’rs of the user industries

b) An increase in the price of a
substitutable factor of production, say

Jabour, is lkely 1o increcse the
demand for capital goods

c) An increcse in the price of a
substitutable factor of production, say
labour, is likely to decrease the

demand for capital goods

d} Higher the profit making prospects,
greater will be the inducement to
demand capital goods.

a) Graphical Method of Trend Projection;:
| b) least Squared Method "
¢} Regression Analysis
d) Barometric Method

Firm’s demand
Autonomous Dem
Derived Deman:

a) -Repeated Demand
b):Replacement Demand
c) {a).& (b}

d) None of the above

a} Expert Opinion Method
b} Collective Opinion Me
<) Survey of Buyers' Intentio
Regression Andalysis

ree hand projection

meThod

b) I} involves:involves plotting of the time
series data“en:a graph paper and
fitting..

,_freehdnd curve to it passing
many poinis as possible
f curve shows the frend

Thismethod is very reliable .

a) Coincident.Indicator
b) Leading Indicator
c) Lagging Indicator
d)  All of the above’

a) It s expensive as well as time-
consuming .

b) It Is risky because ## may lead to
unfavourable reactions from dealers,
consumers and competitors

c) itis easy to determine what conditions
should be taken as constant and what
factors should be regarded as variabie
demand

d) it is practically dlffiCUl’r to satisfy the
condition of homogeneity of markets
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a) Alfred  Marshal  at  the Rand
Corporation of the USA

b) Olaf Helmer at the Rand Corporation
of the USA

c} AC. Pigou

d} Adam Smith

a} Shift demand Curve to leff & Reduce
elasticity of demand

b) Shift demand Curve toright & incredse
elasticity of demand

¢} Shift demand Curve fo left & increase
. elasticity of demand

d} Shift demand Curve to right & Reduce
_elasticity of demand

Additional Practice e

Avaitabillity of substitutes
fice range

) Position of a Commodity in the

Consumer's budget.

d) Allthe above

a) Product share
b} Market share
¢} Demand
d) Supply

a} a substitute.

b} a normal good.
c) oninferior good.
d) acomplement,

{a) Survey fBder s intension (a1} Holding supply constant

(b} Collective opinion Method (b) Holding demand constant
(c) Both {G) and (b) (¢} Price belng constant
(d) None of these {d} other factors being constant.
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(a) Price effect of a fall in price
(b) Different uses
(c) Arrival of new consumers

{d) All of these

(a) Leftward shift

{b) Rightward Shift

(c) Upward Movement
{d) Downward Movement

a) 1.25
b) -1.25

“others

It is o function of consumption of |

{b} His a function of pnce
{c} Both {a) and (b)-
{d} None of thess -

a} Income effect + Veblen effect
b} Substitution effect + Veblen effect
¢) Income effect + substitution effect
d) Vebien effect + demonstration effeci

{a1) Survey of buyer's intention
{b} Expert.opinion method
[c) Least Square method

(d} All of these :

a} Speculative goods
b} Giffen goods

c) Necessary goods
d) Normal goods.

CA Mohnish Vora (MVSIR)
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(a1} Speculative goods {a) Negatiive
{b} Conspicuous necessities (o) Positive

{¢) Future expectalion about prices (c} Either of these
{d) Income effect (d} None of these

Notes:

a) Decrease in demand
b) Increase in demand
¢} Contraction

d} Expansion

a} Zero elasticity
b} Cross elasticity
¢c) Point elasticity
Arc elasticity

Change in demand:: :

a) ‘Orange is o hecessary good
b) :Orange is a inferior good

c) Orarige is a substitute good
d} none
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Answer Key — Economics Chapter 2 - Unit 1

201
202
203
204
205
206
207
208
209
210

216_§
217 |
218 |

231
232
233
234
235

219
220
221
222
223
224
225
| 226
227
| 228
| 229

236
1238
239
240
241
242
243

211

212
213
214

244
245

215 |
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Ciassmchon of Wcms

a} price
b} introspection
c) demand

desire

a) inferior goods and necessaries
b) luxuries and inferior goods

c) necessaries and luxuries

d} none of the above.

ctbsOIU’re_\_
objective,

a} Enjoyable and essendial

b} Enjoyable but not essential

c) Essential but not enjoyable

d) Neither enjoyable nor essential

" Basics of Utility

save monegy
chase large quantity

maximize satisfaction

“d) maximize  satisfaction  subject  to
constraints like tastes and preferences

The demand for the good.

b) The usefulness of the
consumption.

c) The expected satisfacti
from consuming the goo

d} The rate at which @

mers are |1 a) Wilingness
nei‘good for b) Demand
- c) Wanis
d) None of these

willing to exchang
another, _

Cardinal Approach - Law of
Diminishing Marginai Utility

gigf gl?\gur’é a) Marginal utility is zero.
o To o b) Marginal utility is at its highest point.
) N:?t'fjﬁé.of these c) Marginal utility is negative

d] None of the above
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MUX/PX = QX
PX QX = MUM

a) Opero’non of the law of demand. -

b} Consumer surplus enjoyed in hobbies
and rare collections

c} Exception to the iaw of diminishing
utility.

d) None of the above

MU is zero “
TU is faillng

Both (B) and

) *prlnmple of dlmlmshlng marginal
Uhli’ry

he principle of dlmmishmg marginal

rate of substitution

he principle of equi- morglnal utility

d} Any of the above

a) Law of demand

b) Law of diminishing returns
¢} Law of diminishing marginal Liilits
Law of supply

10
b} 15
c) 6.67

d) None of these

b) marginal ufility be mazero
c) marginal utilify:ds “egual fo marginal
utility of mone

a1l b) 10
b) Enﬂm’ry ' c) 40
c) Zerc | d} None of these

d} Positive
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J R Hicks
Alfred Marshall
Robbins

A C Pigou

b)
c}
dj

Law may not apply in . case of
prestigious goods

Law may not hold in case of hobbies
Law applies in case of habit forming
commodities

Law may not be operating in cases

such as creative art

30 utils
120 utils

60 Utils
-6 Utils

Money . .
Butter
Pepsi, Coke eic.
lce cream

marginal utilit a. good diminishes

over time,

ibute- most o the consumer's
iction.

aj Hypo’rhesm of additive utilities.

b) Hypothesis of |ndependen1 uhh’rtes
c} Both (A} and {B}

d} Weak ordering

a) total utility is maximized when @
consumer obtain the same amount of

utility per unit of each product
consumed o
b) beyond some point additional units of
a product will yield less and less exira
safisfaction 1o a consumer,
a) Wiility can be measured c) price must be lowered to induce firms
b) - Utility cannot be measured fo supply more of a product.
c)' Utility can be ranked d) it will take larger and larger amounts
d) Utility can be measured in some case of resources beyond some point 10
_ produce successive units of a product
Making pdfs, photocopies, xerdx, sharing or seliing MVSIR's books is not allowed. It will lead
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a) maoximum
possible

c) maximum possible
None of these

the total utility approach

b) the cardinal utility approach
c} the ordinal vtility approach
None of these

increqse

b) Totat utility and marginal utmty both to
incredse -

c) Total utility to fall and mc:rgmdl U

become negative

Total utility to become neg

marginat utiiity to fall

Total utility fo fall and marginal utility to.,

100 -
102
101

c:r:.i_-"ubit.n.bwmmo

: v

CA Mohnish Vora {MVSIR)

TU increases. at a diminishing rate
because MU is diminisning '
MU can be positive ,zero or negative
when marginal utility is zero, the total
utility is maximum '
At safiafion point,

a consumer s
always at equilibrivm. '
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MUx/Px = Qix
b) PxQx=MUm _
c) MUX/Px = MUy/Py = MUm

d) MUx=MUm : _
b) The area betwe average
revenue and revenue

curves. _
c) veen the maximum

iling to pay for

a) only less for each additional unit

b) only more for each additional unit
¢) The same for each additional unit
As per the situation

MU always declines
b} MU first declines and then rises
¢) MU first rises and then decllnes

‘MU always i mcreases -

[}

ansiby

a) Increase in consumer surplus by EFGR
b} Increase in consumer surplus by AER
c} Increase in consumer surpius by EFCR
d) None of The above :

a} Diminishes
Lero

‘Negative
Increcses

Consumer Equilibrium - Si a) indifferent curve analysis
Commodity b) revedled preference theoty

¢} law of substitution

d) the law of diminishing morglnol u’nllty

42° | Consumer surplus is derived from: '

a) M Ux > Px (a) Law of diminishing marginal uhlt’ry
b) MUx <Px (b) Marginal rate of substitution.

c) MUX = Px (c) Budget line

d) None of these (d) None of these .
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| Economics Chapler

no change in consume
none of these

w

Tarantity

Equivalent fo area EFGR
Equivalent to area EFCR
¢} Equivalent to area AER
None of the dbove

] PIP2CB
} BSC

Consumer’s equilibrium
b} Consumer's surplus

¢) Consumer's expendifure
None of the above

Infinite
b} Zero
¢} Marginally positive
d} marginally Negative

Quuntity

a) Area above the demand curve and
below the price

a) @PEQ o

b} Area below the demand curve and
b)-ODEQ above the price
c) PDE c) Area on the right of demand curve
d) None of these d} None of the cbove

Maiking pdfs, photocopies, xerox, sharing or seling MVSIR's books is not gllowed. It will lead
to strict legal action with monetary penallies
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a) What a consumer is ready o pay +
what he actually pays

b) What a consumer is ready to pay -
what he actually pays

c) What he actually pays - what
consumer is ready 1o pay -

d} None of the above

Both (A) _Qri'
the corr'fe;_:c’r

a} minimum amount he is wiling to pay
for a good. -

b} producer surplus.

¢t consumer surplus

d} maximum amount he is willing to pay
for a good

De creasmg _
ways zero
None of the above

Necessities
b} Luxuries
c} Comforts
Conventional necessmes

Total villity
b) Marginal ufility
c) Average utility '

d) Does not have any reld’rlon to. any of {
these

Reduces
b) Increases

c) Either {A) and (B)
Doesn't effect

surplus  cannot  be

measured recu;ely a) Whatis actual price of the product
{b).. Consumer surplus  derived from « b} Whatis income of the consumer
Commodl’ry is affected by availability of c) What he actually pays

subs’nfu’re d) What is actual surpius

(c) Both {a) & (b}
{d} None of these

Making pdfs, photocopies, xerox, sharing or sefing MVSIR's books is not allowed. I will lead
to strict legal action with monetary penallies
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Indifference

Qrdinal Approach ~
Curve

c) leen scale of preferences as

between different combinations of
two goods. -

b} Dirminishing marginal rote of
substitution, '

c) Diminishing marginal utility of money
d) Consumers would always prefer more
of a particular good to less of it, other
things remaining the same.

a) Same level of satisfaction.

¢} Maximum satisfaction.
Any of the abave

Marginal Rate of Substituti
Prices of x and y
c) Slope of the budge’r fine
d) Chclnge in prices 4

It is con
diminishing
substitution -

b) The ‘marginal rate of substitution s
constant- 'ds you move along an
indifference curve.

c) Marginat uiility is constant as you
‘move dlong an indifference curve.

d) tetal utility is greatest where budget
line line cuts the indifference curve

Making pdfs, photoc opies, >
to strict legal actio

A Mohnish Vora (MVSIR)

{b) Elasticity of Substitutiol
(c} Diminishing Marging __

Good Y

ICoy

K ICo
1Cy
- > X
© Good X L
No odwse needed ,as she is

maximizing her utility ot B

Consume more of Good X and less of
‘Good Y

Consume more of X c:nd and less of Y.
and reach point K

Consumer same guantity of Good Y
and more of Good X

The consumer is not maximizing her
utility at point K

The consumer is spending her entire |
income on both goods

The consumer gets equal pleasure at
points B and K

All the above

xerox, sharing or selling MVSIR's books is not allowed. 1t will lead
n with monetary pencliies
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a) indifference curves aore convex 1o the
origin- - | |

b} Indifference curves slope downwards
from left to right

c) No two indifference curves can cut
each other

d) Al of the above are the properties of -

lndlfference curves. '

a) Rationality on the parts of consumers
b) Ordinal measurement of satisfaction
¢) Consistent  consumption  pattem

behaviour of consumers
d) Cardinal measurementof utility .

c:) Move olong orlgmql indifference

S curve
b) moves to hlgher or fower mdaffe
curve

c) always purchases hlgher qu
both the commodities
d) noneoftheabove .

a} Straight line
b) L-shaped
c) U-shaped.
d} C-shaped

d) Perfect compiemen’rory goods.

CA Mohnish Vora (MVSIR)

Want of a good is satiabl
consumer has more of i,
of want for it decreases.
Most goods are imperf
of one another
Both (a} & (b}

None of the apbove |

more of one of the goods

-~ less of at least'one of the goods
more of at least one of the goods and
less of the other good.
more of at least one of the goods and
no less of the other good. '

c)

d)

Inclifference curve analysis assumes
utility is merely orderable and not
quantitative.

Consumer is capable of comparing

the different levels of utilities or
satisfactions from different
commodities.

Consumer can say by how much one
level of satisfaction is higher or lower
than other.

None of these

Making pdfs, photocopies, xerox, shcan or selling MVSIR's books is not allowed. It will Ieﬂri
to stiict legal action with monetar

y penalfies
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a} Consumer is able to indicate the
exact amounts of utilities that he
derives from commodity or any
combinations of them.

b) Utiity being psycheological feeling is
not quantifiable.

c) The consumer is capable of simply
comparing the different levels of
satisfaction,

d) Both (B) and (C])

a) Two ICs may not m’rersec’r eoch other

b) Two ICs may intersect each other

¢} Two ICs are always paraliel ’ro each
other

None of these

Budget line

Marginal rate of ’rronsformo%gon _
Marginal rate of substitution .
None of these '

Marshail
b) Hicks
c) Slutsky
Keynes

a) The consumer is rational and possesses
full information about all the aspects
of economic environment

b} The consumer is not capable of
ranking all combinations

c) If consumer prefers combination A to

a) *qum_ ht line B, and B to C, then he must prefer

b} is convexto the origin combination A to C

c) _._consm’r ‘of two straight line with a right d) If combination A has more

3y -:::_gnglg__:pen’r commodities than combination B,
) none of these then A must be preferred to B.

Making pdfs, photocopies, xerox, sharing or selling MVSIR's books is not allowed. It will lead
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a) Falling MRS
b) Rising MRS
c} Constant MRS
d] None of the above -

indifferencé curves

origin o
Indifference curves slog
from left to right f
No iwo indifferen
each other -

d) An indifference curve is concave to
the origin

b) An indifference curve is convex fo the
origin

c] A higher indifference curve is better
than a lower indifferent curve

d) An indifference curve is a curve which

represents all those combinations of

two goods which® give same

satisfaction to the consumer

None of the abe¥

Ordinal utility
Cardinal utility
c) Marginal ufility
None of the above

Indifference curve for these two goods
are stroight parallel line with o
constant slope along the curve _
Indlifference curve hias o constant MRS
Concave to the Origin }
Both {g) ond {b]

MRS Is falling
MRS is rising <

None of fheg Ve

onsymer fastes and preferences.

a) -Budget line

b) - Average cost curve

¢) indifference map

d) Marginai revenue curve

a movement up a given indifference
cutve

a movement from a higher to a lower
indifference curve
a movement
indifference curve
any of the above.

down @ diven

to stiict legal action

CA Mohnish Vora (MVSIR)
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a} The budget line would not
) The new budget Iin_e m

c} The budget line must be's
o left :
d} The new budge
same slope as
the pnces of

g:hcﬂ so long as
’_goods change in

Codes:

a o} c d
(Q) 1 2 3 4
(b] 3 ] 4 ] Ry
{c) 1 3 4 2 ihverse relationship between
1 3 2 A4 and demand of .a

[d)

e good he has fo buy less of other

good at given money income.

if a consumer wants to buy more of

one goods, he has fo buy less of other.
© goods as his money income falls.

.d) None of these

a) Slopes downward_
b) L-shaped
U-shaped
d) Straightline

Budget Line

on of goods
le of consumer's

a) Represents d
which costs 1

income :
b} Represents a:combination of goods
which costs less than the consumer’s P
e a} P
c} Represenfs ‘a combination of goods Pre
which is:unattainable to the consumer b) Pe
;}:glven his/her money income M
d) Represents a combination of goods S
which costs more than the consumers’ g M
income ) Pe

Making bdfs, photocopies, xerox,. s'hcuinr} or selling MVSIR’s books is not allowed. It will lead
to strict legal action with monetary penalties
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a) Px.Qx+Py.Qy £
b) Px.Qx +Py.Qy <
c) Px.Qx+Py.Qy >
d} Px.Qx+Py.Qy =

mwm® |

Positive and constant
b) Negative and decreasing
¢) Negative and constant
d) Positive dnd increasing

Consumer Equilibrium -~ Original
Approach

d) None of the-alsove .

a) Is not spending all personal income
b) Is spending alf personalincome
c) may or may not be spending all |
personal income
s in equilibrium. . -

ay) Chonge in income
b} Changein demond
¢) Change in utility
None of these

a) Demand line
b):Price line

c) “Supply line

d) None of the above

) the budget line is tangent to the
indifference curve

b) marginal rate of substifufion of one
good for another must be equal to the
price ratio of the two goods

C] eithera orb

d) none of these

a} is above an indifference curve
b} is below an indifference curve

c} Istangent to anindifference curve

d} Cuts an indifference curve

Making pdfs,

A Mohnish Vora (MVSIR)
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" conomics Chapter2

a) Parallel

b) Atright angle (b) Consumption Possibility:Et

(c) Iso Utility Curve

c) Diagonally opposite (d] None of these -

d) Tangent

56

57 87

58 88

e C | a4 B 59 C 1 74 C 89

clas|cleo|a|7| D] D05 b

106
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' Determinants of Supply

Basics of Supply

a} improvements
technology

a) is actually _bough’r durlng a given time “ods which

period at.a given price _ b} Fallin the pr_ices_wof other g .
b) producers Wtsh they could sell at a can be produc ing fhe same.
higher price . - inputs . g _ _.
c) producers p!c:m 1o sel during a given c) Fall in th . of factors of ;
time period at ¢ given price productior its production .

| d) people are wiling to buy during « d) O_",Of_*heﬁgbd

given time period at a given price

Ilmn‘ed resources ’rhc:’r are quslobie
with the seller
b) cost of producing a good :
c} entire relafionship  between the
quantity supplied and the price ofy
good..
d). Willingness to produce a good if ’rhe'
- technology to produce it beg
available

_ Demond for heimefs

a) When the price falls ’rhe quantity
demanded falls )

b) Seasonal changes do not affect the
supply of a commodity

c) Taxes and subsidies do not influence
the supply of the commaodity :

d) With lower cost, it is profitable fo |
supply more of the commeodity.,

Stock
b) Flow and stock
c) Flow

None of the Gbove

) sdin efhm a} Phenomenon Considered
d s m 195 b} Degree of possible adjusiment in
b). different sUpply

c): ho\rlng no comparison ) . . )
c) Time Period under Consideration
d) Both {B) and (C) d} All the above

Making pdfs. photocopies, xerox, sharing or selling MYSIR's books is not allowed. It will lead
- to stiict legal action with monetary penallies
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Negative relationship

b) Inverse relationship
c) No relationship
Positive relationship -

a) An increase in the price of caulifftower
which is equally prefered by
consumers ' :

b) Announcement of “a subsidy by
government on vegetable production

c) More farmers producing cabbage
and the increasing competition
among them

d) A substantial decrease in the price of
capsicum -

Law of Supply

a} proportionate
b} homogenous
c) inverse

d} direct

a) Supply curve will shift to the left.

b) Supply curve will shift to the right.

c) Supply will not shift, but the quantity of
cars produced per month Wil
decrease.

d) Supply will not shift, but the quantity of
cars produced per month  will
increase.

nd states positive
ween  price and

quantity dem .
b) the Law of Supply states posifive -
relationship  between  price and

quantity.supplied. P T T
c) As:perithe Law of diminishing retumns a) Decrease in the number of producers,
‘as  the consumption of any ||| b} Decrease in the price of fhe good
“commpodity is increased, the average concernead.
returns start diminishing. ¢} Increase in the prices of other goods.
d) None of the above d) Decrease in the outlay of sellers.

Making pdfs,

photocopies, xerox, sharng or salling MVSIR's books is not allowed. It will lead
to shict legal aclion with.monetary penaliies =

CA Mohnish Vora [MVSIR) ' -~ mvsivin




MCQ Compiler

. Economics Chapter2 -

CA Foundation Dec 2023

a decrease in the number of book
publishers

b) o decrease in the price of the book

c} an increase in the fu’rure expected
price of the book

supplied at a given pric
b} supply decreases and, |
supplied at a given pr

price
none of the cbov

d} an increase in the price of pc:per used |

a) can be changed

b} can not be changed
c) canbe increased

d} none of the above

increases ; decreases

dec_reclses; increqses
decreases; decreases
increases; increases

a) lesser quantity-is supplied af a given

rtity is supplied at o given

c) ‘prices have fallen and quantity is
“supplied at a lower price
d} none of the above

of factors of

a) A fall in wage costs of the firm along
with a fall in consumer incomes

b] A shorfage of raw materials and
consequent increase in raw material
price

c) An increase in subsidy by the
government and a reduction in taxes

d) Decrease in the market price of the
commodity in question '

to strict legal achion
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a) Decrease in supply.
b} Increase in supply.
¢) Increase in the quantity supplied.
d} Decreasein the quantity supplied.

Decrease in Supply today }
b) Decrease in Quantity i
¢} Increcsein Supply to

a} Upward movement on same supply -

curve
b) Rightward shift in supply curve
c) Downward movement on
supply curve

-same

d} Leftward shift in‘supply curve

Rlse in the pnce of good

c) Fal
productlon
d) All of the above

[eisticity of supply is G measure
ich the quantity supplied of
responds to a change in the
sof that good -

¢ “elasticity of supply is computed
‘the percentage change in quantity
supphed divided by the percentage
. change in price

Price elasticity of supply i in ‘rhe Eong run
would be dlffererﬂ from ’rhcﬂ of the
shorf run

d} Alf the above

a} Zero

b) Infinity

¢} Equal to one
Greater than zero but less than infinity

a) increase in Supply

b} Increase in Quantity Supplied
Cl- Decrec:ise in Supply

d) Decrease in Quonh’ry Supplied

a) Dermand.

b} Price.
c) Cost of production.
d) State of technology

CA M@hmsh Vora (MVSIR)
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Q) Zero,

b) Infinite.

c)] Equalto one.

d) Greater than zero but less than one.

perfectly inelastic suppl
perfecﬂy elastic suppl

a) 2.5

b) 0.4 _ _ ‘ ~in quantity
) 25 | supplied  is"""more  than  the
d) {-) 0.4 | orfiénate change in price.

te change in price is

than the proportionate

gein quon’n’fy supplied.

inge in price and quantity supplled
re equal

None of the above

a) responsiveness  of  the  quantityyl
supplied of a good to a change in iis
price '

b} responsiveness of the qu
supplaed of a good wnhou’r chai
its price

c) responsiveness  of the™
demanded of a good to a

a) Less than one

its price

d) responsiveness  of 1 . quantity b} Greagter than one -
demanded of a good withoL : c) One
inits price d} None of the above

a} Percet je change in income
b) Percentage change in  quantity

~demanded of goods a) 4
c): Percentage change in price b) -3
d) ‘Percentage change in iaste and || ch -3

preference d} 3

sharing or selling MVSIR's books is not qllowed It will leaid
h monetary penalties .

Making pdfs. pholocopies, Xerox,
to strict legal action wit

‘CA Mohnish Vora (MVSIR) - mvsinin




MCQ Compiler

CA Foundation Dec 2023 onomics Chapfer2

Elcsticity of supply i is
of supply curve,

prreay

Upward movement on same supply
curve

quantity oxis

b) Steeply rising with elc:s’rlcﬁy .than o) E)U%\';?;VCOJ& e movement on  same
one :
o c} Leftward shift in supply curve
c) Vertical straight line pa Y Qxis | d) Rightward shift in supply curve:

d) A perfectly elastic sup Ve

Q) zero.

b}:lnfsm’re g) gi
c)one. - ) >
d) Unable to be determined from this c)
information. d) None of these

Maik
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aj | Expand sforage space:
b} 2 making sure that pr
c) § long while stored

d} none of these All of the above .

a} elastic
b) inelastic

perfectly elastic
perfectly inelastic

Luxury
b) Necessities

c) Salt

Perishable good

the highest quantity willingly supplied

by the suppliers at each price and

b) the minimum price which will induce
suppliers to offer the various quantities
for sale

c)] the highest price which wil induce
suppliers to offer the various quantities
for sale

d) Both (a) & (b}

Making pdfs, photocopias, xerox, sharing or selling MVSIR's books is not allowed. I will lead

to strict legal action with monetary penalties
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a) Zero

b) Infinite

c) Easfic

d} Inelastic

a) Greater than one
) Less than one

c) Equalio one

Any of the gbove

Determinants of Price Elasticity of
Supply

a} Improve the technology use
b) Increase production Capac
c) Expand storage spag
~making sure that

Unit elasticity
b} Point elasticity

c) Supply elasticity
Limited elasticity

More elastic
c) Perfectly inelastic

d) Any of the above

a) Greater elasticity of supply
b) Lower elasticity of supply
c) Zero elasticity of supply

d) None of the above

a) inelastic supply

b) Perfectly Inelastic supply
¢} Elastic supply

d} Any of the above

to sirict legal action
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Social Efficiency

a) High
b) Low
c) Zero,
d) Infinite

Market Equitibriur
b) Consumer we
¢) Socicdl Efficien
None of the ab

a} High
b) Low
c) Zero
d) infinite

Price Effect & Income Effect

.Demand & Supply
consumer surplus & producer surplus
)} None of the above

Upward
b} Downward

c) Constant _
None of the above

No shortdges exist.
b} Quantity demanded equ'
supplied. :
cl A price is esfobhsh
market.
All of the aboye

Consumer surplus
b} Producer surplus
c) Consumer Welfare
d} (o) or{c}

S ihepricellﬂe TR

0) P 60nd® 9 a) Consumer surplus
b) P.=5and Q =2 b} Producer surplus

c) P=4and Q=4 c¢) Consumer Welfare
d) P=3and Q=6 | d) (a) orc)

\ftul/mg pdfs, pho’roc opies, Xxerox, sh(mng or selling MVSIR's boaoks is not allowed. It will lead
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Additional Practice

s also gqualitative concep

a) the actionis ethical. b} Quantitative concept..:

b} the action produces marginal costs c) Quantitative and qudlitativ
that exceed marginal benefits. d) Neither quadlitative:; nor

¢) the action produces marginal benefits concept -
that exceed marginal costs.

d) the action makes money for the

person.

ncept -
antitative

a) Relative
b] Absolute
c) Both {A) and (B)
Neither (A} and (B}

An assumption
A hypothesis- .
| A validated hypothesis .

None of these

- Unit 3

61
62
63
64 |
45 |
66 |
_______ 67 |

(X
33 |
34
35
3| A
la7|c

—

¢

19 A |29 | A 39| C 49| A |59 C ]9
20 A 30 a 40 c 50 | n 40 j:'__’g;;j_- 70 ___;;,;_L};_;!;'
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Basics of Production

Q) Tlllmg of soit, '

b) Singing a song before frlends

c) Preventing a child from falling into o
manhole on theroad.

d) Painting a picture for pleasure. -

(b) I’r has mulhp

a) The services of a doctor are
- considered production.
b) Man can credte matter.

c) The services of @ Housewife ore-

considered production. -

d) When a man creqtes a table, he

creates matter,

i leinds are not alike
‘ Onds are flxed

Factors of Ploduchon Labour

a) Labour is highly 'Perishable’ in the
sense that a day's labour lost cannot
be completely recovered '

b) Labour is inseparable from the
labourer himself '

¢} Labour has ¢ strong bargaining power

d} The supply of ldbour and wage rate

are directly related in the initial stages

Factors of Production - Capital |

a) creating utility

b} earning profit

c) destroying utility
providing services

c) Flying kite for pleasure
d) /Teaching concept of Economics to q) Stock concept

friendsin a library. b) Flow Concept
e : ¢} Both (a) and (b)
Factors of Production - Land d} None of the above
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a) Accumulation of capital
solely on income of individuals.

b) Savings can be influenced Dy
government palicies.

internal economies with location.

upward slopping curve,

depends

c) External economies go with size and

d) The supply curve of labour s an-

a} Savings
b) Mobilisation of Income
c) Mobilisation of saving

Investment '

a} needs to bear
b} need not bear

c) {a} or{b)

d) None of the above

b) Risk bearing
C) Innov@hon__

b] Man cannot create matter
c) Accumulation of capital | do;
depend solely on income

a) The services of = doctors, lawyers,
teachers  elc. " are termed  as
produchon '

None of the above

Risk bearing.
¢} Innovafing.

| Srwagrenetnsio. -

a):lhnovate

b} Bear the sense of responsibility
c) Finance

d) Earn profit

Enterprises Objectives & Problems

a} To provide fair dedl to the employees
at different levels,

b} To remove inequality of opportunities
& provide fair opporiunity o all to
work and to progress. '

c) To produce according to national
priorities.

d) To help the country become self
refiant & avoid dependence on other
nations. :

s -.-objeciive

a) it has to make profl’r from the soc:;e’ry

b} i lives in society & it cannot grow
unless i1 meets the needs of the
society.

c) It has a separate legal identity,

d} None of these

to strict legal action
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a} Shows how much output a d ’rhe vel

a) To provide fair deal to the employees of input required  for
at different levels, maximize profits

b} To develop new skills and abilities and | {| o} Establishes the - minim |
provide a work climate in WhICh they output that can b r d using
will grow mature. the available reso '

c) Only (A) _ ' {1 ¢} Shows the maximu

d) Both {A) and (B} : - ~ be produced wit
e ' - inputs with avdlilg

Problem relating to location & size.
Problem of making huge profit.
Problem relating to finance.

Problem relating to organizational
structure.

2092

'_ ilonsh|p between a factor of
‘oduction and utility created by it.
Relationship  between quantity  of
outpul produced and fime ic:ken to
produce the output -

1) Promotion
" Place
People
d) Product

a) Is the relationship  between the
quantity of inputs used and the-
_'_resul'rmg quantity of product. -
b) Tells us the maximum attainable
output from a giveh combination of

inpuis. _ )
c) Expresses the  technological
relationship between inputs  and

output of a product.
d) Al the above

between the firm’s

The relation

total revenue’ and . the cost of

produc’rlon_____
c) The relationship  between  the

,quummes of Iinputs needed to

“produce a given level of output, G) F’roduc’ﬂon func’flon
d}The relationship between the quantity b) Markefing

of ffputs and the firm's marginal cost ||| €] Supply function

of production. d) Social function

v‘urikmq ndfs, photocopies, xerex, sharing or selling MYSIR's books is not qllowed it will lead
to strict legal action with monetary penailties
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same output.
b} the highest resulfing output

one-unit increase in one output,

generated by those inputs.

a) another combination that yields the

c) the increase in output generated by

d) all levels of output that can be-

a) Relationship between inputs
time
production Technology.
from their utilization is at the maxil

fevel,
d} All the above

Short Run Vs Long Rua

c) Input consideration Included in a
particular  function output  resulting,

and

output exists for a specific period of

b) There is a given state of the art |n

variable.
In the short run Ahe

v varies all of its
" leqst-cost

up to six months from now,

up fo five years from now.

as long as all inputs are fixed.

as Iong as at least one mpu’r is fixed

a) atleast one

than one-yeor

C) .oﬂl factors of production are fixed and
“no vomc:bie inputs.
d} all mpu’rs are variable and production
is done in less than one year

and firms neither leaving nor entering

returns to scale.

law of diminishing returns to a factor,
law of variable proportions.

least cost combination of factors.

Maiking pdfs, pho‘rc)( OpIES, XBrox
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That input whose quantity can be
guickly changed in the short run, in
response to the desire of the company
to change its production.

b] That input whose quantity cannot be

quickly changed in the short run, in

- response to the desire of the company

to change its production.

That input whose quantities can be
easily changed in response to the
desire 1o increase or reduce the level
of production.

That input whose demand can be
sasily changed in response to the
desire to increase or reduce the level
of production.

d)

Labour
Capital
Building
None of ’rhese

Returns to o factor
b) Returns to scale
c) Bothaandb
None of these:

_Smc:tli run.-_
b) _-f-i!_ong run

¢) Very-small run
undetermined

average produc’r
The law of increasi
relates o the
factor proportior
c) Economies of s r
of indiws:bi!mes‘ tor proportions,
of scale can

mdus’rry expands.

‘total product divided by the number.
f-Units of variable input
the additional output resulting from a.
one unit increase in the variable inpu.
the additional output resulting from o
one unit incredse in both the vorlobie'
-~ and fixed inputs.
the ratio of the amount of the variable -
input that is being used to the amount
of the fixed input that js being used.

a) the short run, but not the long run..
b] the long run, but not the short run.
¢) both the short run and the long run.
d} neither the short run nor the long run

A [ many stages are there:

._(0) }
(b) 3
(¢} 5

(d} None of these

Making pdfs, photocopies, xerox, sharing or selling MVSIR's books is not aliowed. It will lead
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a) when total product is fising, average
and marginal product may be either
rising or fafling. '

b) when marginol product is negative,
total product -and average product
are falling. o

c} when average product i ot
maximum, marginal product equais
average product, and total product is
rising.

d) when marginal product is at a

maximum, average product eguals

marginal product, and total product is
rising.

a) when units of -a variable input are
added to ‘@ fixed input and tafal.
product falis, -

b) when units of a variable inp

~ product falls.

c) when the size of the plant
in the long run,

d) awhen the quaniity.
is increased and retu
input falls.

a) the marginal product of labour is
negative. '

b} the margindl product of labour is zero.-

c) the average product of labour is
falling.

d) the average product of labour is
negative,

a) equals the average product of iabour.
Lo : equals zero,
Ty 240 ] ‘11 ) 1s maximized.

{11 d) none of the above

Making pdfs, pho’rocopies[xerox_, sharing or seling MVSIR's hooks is not allowed. it will lead
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total product divided b
cost.

a} the technology is changing.

: product. :
b} there must be some inpuis whose c) total product dlwded '
quantity is kept fixed. - of units of variable input.
c) we consider only physical inputs and d) marginagl produc’r‘ by the
not  economically profitc:bility’ in :
monetary terms.

the ’rechnology is glven and stable. :_3 -

d)

the “inflection point of the
ion function, a greater use of
Number of Workers le input mduces a reduction
0 . 0 reachmg the inevitablé point of
1 23 reasing marginal  returns,  the
-~ intity of oulput oblained can
2 % ease at an increaqsing ratfe.
50 The first stage corresponds to the®
L. T - range in which the AP is increasing as
a) constant marginal product of labour, a result of utilizing incredsing quantities
b] diminishing margmol product of variable inputs. :

[abour. = -
c} increasing retumn to scate
increasing marginal produ

d) All the above.

a) total product curve,

b) average product curve.
c) marginal product curve,
d} implicit product curve

a decreasing rate
b) When mdrgin

decreasing butat its highest.
C) When the. mgrgmal product curve cuts

e .
“of the third unit of input is:

pelow: ’rhe average product is equal

~to marginal product, a) 50
d)In s’rage two, total product increases b} 100
at @’ diminishing rate and reaches c) 150
maximum at the end of this stage d} 200

Making r>dfd photocopies, xerox, sharing or selling MVSIR's boacks is not allowed. I will lead
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a) 50, 50, 50, 50
b} 50, 110, 180, 260
c} 50, 100, 150, 200
d) 50,90, 120, 140

Short period
Long period
Market period
‘None of these

= utad oty

a} Six; fourth
b} Six; third
c) Six; fifth
1 d} Six; sixth

| mPis ldh’gér 'fh'aﬁ AP

MP is equal to AP

| MP is smaller than AP

AP ig at its maximum

AP is falling

AP is rising

Q) the margihalu ‘product curve has a

positive slope.
b) the marginal product curve  lies
completely below the overage

product curve,
c) total product increases.
d} marginal product is positive.

CA Mohnish Vora (MVSIR)
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a) Production possibility frontier
b} Retumnto Scale

c) Laws of variable

d} None of these

rate .
c} total product increases

rate :
bothaand ¢

a} Technology of production - remains

unchanged.

bl Only physical inputs & output are
considered.

c) All units of variable factors are

different.
d} The must be some inputs whose
quantity is kept fixed

a} AP is maximum
b) TP is maximum

MP is-zero :
Both {b) & {c) :

a) MP is negative ™
b) MP is diminishing..
c) MP s fisi
d) nong

: Bk

Zero
Negative
Positive .
None of these.

a) price .

b} marginal productivity
c) avdiability

d} Profitability

- Short-run
b) Long-run
¢} Bothaand b
d) Very shorfrun

Q) Zero

b) Faliing
¢} Rising

d) Maximum

fos

ék&fﬁﬁc}hnish Vora (MVSIR)
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= || a) When AP intersects MP
a) 25 ' b) When AP intersects TP
b) 1400 _ ¢} When MP is highest

d} At the point of inflex

a) Total Product declines, MP is positive
b) Total Product declines, MP is Zero
c) Total Product declines, MP is negative
d) Total Product in constant, MP s
constant -

When AP becomes Zero
b) When MP becomes Zero

c} At the intersecting point of AP and MP 0 o T R
- When MP is hlghes’r ~ 'k - - _
4 90
6 120
Maximum
| b) Decreasing 8 140
¢)] Constant
None of the above 10 14

“factor variable and only one
factor flxed a) 25

b) One factor VC!riCIb|e keeping b) 30
- quantities of other factors fixed c) 50
c) Al fgctors variabie d} 75

d} None of the above
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a) 20
b) 22.5
c) 45

Increasing
Decreasing

Maximum
Negative

d) 90

al 120
b) 30
c) 15

d) None of The--ab e

d) 10

g
K- NENIN N £

) There is increasing scc::rc;’ry of ch’rors
ofproduction ' _
The prlce of extra unit of ¢ fcc?or is
increasing _ :
There is atleast one fixed fcc’ror of
production .~ L :
Capitalis a vqridbte ;npu‘r

States that
variable ing

steadily.
Assumes that ’rhere is Technologlccl

'VGI’iOble input, the marginal product
“of that variable begins to decrease
"'sfecndlly

d) Informs a firm whether or noi to use a
factor input..

s Making pdifs, photocopies, XETOX, sha mq or selling MV3IR's books is not alfowed. i will lecd

Equal zero

is maximized
c} Equal APL

d) None of these

- varlable proporiion:

cz) S’rqgel
b} Stage I
c) Stage lii

d} None of these
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a) There are only two variable factors
b) There is a fixed factor and a variable -
factor
c} All factors are variable
d} Variable factors yield less.

Returns to Scale

a) output will also decrease by 10%.

b) output will increase by 10%.

c) output willincrease by less than 10%.
output will increase by more‘than 10%.

~constant retums to scale
b) Increasing returns to scale’
c} diminishing returns to scale
d) negative returns to scale

Doubling of all inputs used Ie d -
doubling of the output. |
b) Increasing the inputs by 50% léad:

25% increase in output.
c} Increcsmg inputs by 1/
increase in ou’rpu’r of 1/3

II"ICI'GC!S@

c) Increase in input is less than increase in || | a) 1 &2 only
: output b) 2&3only
d) Increase in output is less than increase c} 18&4only
in mpuf d} 2 &4 only
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a} afactor

b} various inputs seporqfely | a) Decreasing Cost Indlust
c) qil the inputs simultaneously: : b) Increasing Cost Industry:
d} Noneofthese o ¢) Constant Cost Indus’r;;

None of these

a) Input and output increases by same
proportions.

b} input increases by some proportions
and output increase more than
proportionately

c) Input increase by some proportion
and output less than the.

proportionately

None of these

a) Constant returns to scale .
b) Decreasing retumns o scale
¢]) Increasing returns to scale
d]) All of the above ot vctrsous level of
output .

a) increasing returns of a factor
b) increasing returns to scale
c) constant returns fo a facto
constant returns to scale

a) P=bLAj CAk

b] P =bLA{1/j) CA(17k)
c) P =bLAk CAj

d) P = 1/bLAk CAj

a) -Constantreturns of scale
b): !ncreasmg returns to scale
c) ‘Decréasing retums to scale
d) None of these
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a) Constant return
b} Increasing retum
¢) Decreasing retum
d}) None of these

inputs  are combl.
output,
A chcinge'_' in’

a) elasticity

b) returnto scale

c} total product
marginal revenue

4) downward to the left
- downward o the right -
a) is negative | c) upward to the teft -

b) liesin unit interval d) upwardto therig ~
¢) exceeds unity ' T

is zero

increasing returns fo's
b} decreasing returnsto:s
c) constant returns t
increasing retur

a) {A)is true and (R) is false

b) Both (A) and (R} are true & (R} is the
correct explanation of {A)

c} Both (A) and (R) are true & (R} is not
the correct explanation of (A}

d) {A)is false and {R) is true

x, sharing or seling MVSIR's books is not allowed. It will lead
onetary penailties
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| Economics Chapter3

Maximum
b) Equal
c)] Minimum
None of these

Labo
ur

Combin
afion

; 100 90 10

I 100 60 | 20

] 100 40 30

v |00 | 30 | 40

Oulput | Capital

Ouiput | Capital Labo

85
70
40

(A & (B)

Isoquant slopes downwards from left
to right

b} No two isoquant can m’rersec’r each
other N

¢} Iscguants are convexto ’rhe ongm

d} Allthe above

q) elasticity
b) retumnto scale
c) total product :
d) marginal revenue

e a) wir
a) -above the isoquant b) r/w
b):below.the isoquant _ c) rxw
c) “eutting the isoquant d) None of these

d) tangent to isoquant

Making pdfs, photocopies, xerox, sharing or seling MVSIR's books is not alfowed. I} will lead
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a} 1only
by 2only

c} 1&2both
None of these:

b} are convexto 1he of
c) cannof cross -
d) ore all of the gbov

Quanfity sold

b) Output
c} Quantity demanded
d} Quantity supplied

8

Pro: uction

Equal product curves
Production Indifference curves
ISO product curves

All of the above

a) Samuelson

b). Malthas

c) Hicks:

d) None of these
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|

\vili [Slele
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_ Economic

“Cost Concepts

costs do not.

o] The wdages propnetor could hove
made by working as an employee of
a large firm.

The income that could have been
eamed in dlternative uses by the
resources owned by the firm.

c) The payment of wages by the firm.

d) The normal profit earned by a firm

o)

Accounting costs in

paid out costs.
Accoun’ring

resources.

add t-he opportunity
“which uses its own

a)
on retained eamings used by the firm
to finance expansion.

building in which it is housed.

c)
~ for funds borrowed from a bank,
d} The payment of wages by the fir

Interest that could have been eamed
b} The payment of rent by the firm for ’rhe.-::;j,\; )

The interest payment made by the firm’

Rs. 3,00,000

Money payments made: to non-
owners of firm for self-o¥
employed in busin
not entered info bogks ofaccounts.
b) Money not paid dut o the owners of

the firm fora
emp!oyed in

self-owned factors
ness and therefore

owned ond" 'employed resources
could:have eamed in their next best
oh‘ernqt e employment and therefore
_en’fered_ into books of accounts.
d)‘Money. ‘payments which the self-
"-__'owned and employed resources earm
in‘their best use and therefore entered
info kbook of accounts

Rs. 2,50,000
Rs. 7.50,000
insufficient data

Accounting profit of Rs. 2,50,000.
Economic loss of Rs. 50,000

Both o and b are correct.

None of the above is correct.

to strict legal action
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a) economic profit of Rs, 75,000
b) economic loss of Rs. 75,000

d) economic loss of Rs. 2,50, 000

economic profit of Rs. 2,50,000 -

Rent

Wages - .
Internal.  payments’
financial capital
None of these

wed

a) Rs. 95,000
b) Rs. 1,25,000
c) Rs. 80,000
d] Rs. 70,000

Marginal Cost
b) Sunk Cost
c) Book Cost
Average Cost

Implicit Co®

Average: Cost
Explicit Cog’r
None of theseé::

¥ None of these |

Of por’runzfy Cos’r
xed Cost
Average Cost

implict cost
future cost
explicit.cost
past cost

,f:nancml.cop;fol

d) f::f_pc:ymen’r on lease for

“equment

borrowed

factory

.H@@k'ﬁﬂ@hﬁésh Vora {(MVSIR)

The firm is earning economic profit or
Rs. 10,000

The firm is earning accounting profit or
Rs. 40,000

The firm is earning economic profit of
Rs. 40,000

Both {a) and {b)
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a) The firm is incurring an economic 1oss.
b} Implicit costs are Rs. 25,000.

1,00,000.
d} The individuat is earning an economic

¢} The total economic costs are Rs.

Electricity bili
b) Interest onloans

c) Expenses on raw materia
Wages of daily workers

profit of Rs. 25,000,

a) economic profit  will
cccounhng profit,

b) economic profit will be less than
c:ccounilng profit,

¢} economic profits will be zero.

be equal to

accounting profit

d} economic profit will be more Thc}n?‘:"'

The seed and fer’nllzer
crop is planted
b) The field ’rhcn‘ hcrs K

:,{,])

land and building
rges of machinery

: ance premium

Material bought

a) Wages of the labour
b} Charges for electricity :

c) Interest on owned money capital
Payment for raw material

a) Total Revenue - Total variable cost

b) Total Revenue - Total direct cost

c) Total Revenue —Total Cost

d} Total Revenue — Total Explicit cost omd
Total Implicit Cost

Q} Accoum‘mg cos’rs
b} Implicit costs
c) Both'aandb
d) None of above

CA Mohaish Vora (MVSIR)
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Firms that earn accounting profits are R N 1 !
economically profitable. - a) Rs.25,000

b) Opportunity cost plus accounting cost b} Rs.50,000
equals economic cost. - : c) Rs.80,000

¢c) When a firm's demand curve slopes d) Rs.75,000
down margmol revenue WI|| rise an
output rises. :

d) Firms increase DFOfifS by setlmg more
- output than theirrivals, .~ o

Rs.75,000

RS 50,000
Rs.80.000
Rs.75,000

a) SurQj

b) Shyam L
c) .Both Surai and Shycsm Lo
Neither Surgj nor Shyam

“Rs. 75,000
b) Rs. 35,000
c) Rs. 80000
d) Rs. 30000

a) product cost
b) physicot cost
c) real cost

d) opportunity cost

Maiking pdfs, photocopies, xerox, sharing or seling MVSIR's books is not allowed. 1 wil lead
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The cost incurred in the

a) Explicit cost ' we make a decision ab
) Impkicit cost in the future. ;
c) Variable cost ¢} That which we foreg
d} Fixed cost a we make a choice

of buylﬁg an
luct.

d} The additional pen
- additionat unit ofpre

Super normaliprofit:

a) Nothing, since the land was inherited

b) Rs. 50,000 which his father paid

¢} Rs. 90 lakh, since the amount Gopal is
getting now if he sells it

Both {b) and (c]

The production function.
b) The price of labaur,
c} Toxes.

d) The pnce of the f|rm S oquu’r.

a) The monhey you spen
show _
b) The money you coutd have made if
“you had stayed at hiome and worked
c} The money you sps 1on dirline tickets
d} The money you:sps on food

Short Run Total Cosrs

a) increase due 1o an increase in fixed

b costs only.
ting costsare . * Sz b) increase due to anincrease in variable
costs only.
a) -Implicit cost c) increase due to an increcse in both
b): Explicit Costs fixed and variable costs.
c) "Economics Costs d) decrease if the firm is in the region of
d) None of these diminishing returns

M(lkmq pdfs, photocoples, xerox, sharing or selling MVSIR's books is not gllowed. [t will lecid
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_Economics Chapler3

a) Cost of raw materials.

b) Costof equipment.

c} Interest payment on past borrowings.
d] Payment of rent on building. -

a) TC =TFC -TVC.
b) TVC =TFC ~TC.
c) TFC =1C -TVC.
TC = VG ~ TFC

Average cost,
b} Marginal cost,
c) Fixed cost.
Variable cost

rm-cannot be
#the TFC are
the prices of

As the fixed inputs fo
changed in the sho
constant, excep

- the fixed inputs.che ge

b) TFC continuefo:zexist even when

pped in the short run,

n the long run even
when production is not stopped.

c) TotalFixed.Costs (TFC) can be defined

dofal sum of the costs of all the

fixed w:--;lnpUTS associated  with
_produgtion in the short run.

d) :In the short run, a firm's fixed cost
cannot be escoped even when
production is sfopped.

CA Mohnish Yora (MVSIR)

2000
b) 975
c) 30,000

Can’'t be de’rermme

ost is obtained ,by adding up
st and total variable cost.

a) Totalcost
b} Marginal cost
c} Average cost

d) Total fixed cost -

a) U Shape
k) S Shape
c) Inverse S Shape
d) None of these:

d) 107.25

tary penalties

a) 100+ 14Q + 0.75Q¢#
b) 120 +7Q2 +0.25Q°
c) 100+ 7Q%+ 0.25Q°
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a} 73 TC-TFC
b) 50+ 20Q +9Q° AC-AFC
c) 70+ 9QF _ None of these

d) 20 +9Q7

a) MC
b) AVC

c} TFC _

d} None of the above

c) 600 .

Short Run A’Qerage Costs

a) Rs. 160
b) Rs. 140
c} Rs.9C.

a) Average cost curve.,

b} Marginal cost curve. _
c) Average variable cost curve,
d) Averdage fixed cost curve.

TFC and TVC
AFC and AVC
TVC and AVC

None of these

d} increaqses.

b} decreases.

c) remains constant,

d) first declines ond then rises.

a} Rise at a decreasing rate
b):Fall at-an increasing rate
c) Fdll ot-a decreasing rate
d) Rise’at an increasing rate

Mc:king pdfs, photocoples, xerox, sharing or selling MVSIR's books is not allowed. 1t will lead
to strict legal action with monetary pendlties.
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ata.

Quiput _

Q) 1 (TC) [in Rs.]
0 240 a) ATC = AFC - AVC.
1 330 b) AVC = AFC + ATC,
2 410 c) AFC = ATC + AVC.,

- d) AFC = AIC - AVC.

3 480 .
4 540
5 610
6 690

a) Rs. 280
b) Rs. 60
c) Rs. 120
d} Rs. 1400

a) 2and 30
b}3 and4.
c) 4 and5.
d) 5andé

pies, xerox, sharing or selling MVSIR's books is not allowed. 1t will lead

Making pdfs, photoco
; to strict legal action with monetary penallies
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average fixed cost.
b) average totalcost,
c) average variable cost.
d} marginal cost.

......

a) Fixed costs res: falimg while total costs -
are risin gp’r fising ou’fpu’r

ridble costs as ouiput rises.
erage fixed costs are faling as

average fixed costs are rising.
b) average total costs are falling,
average total costs are risin

a} same .
b} different
c) {A) or (B)
d) can't be determined

a) TFC

b} ‘MC ..
C) AFC
d) AVC

a) AVC curve
b) AFC curve
c} MC Curve
d) Both {a) & (b)

to strict legal actior

CA Mohinish Vora (MVSIR)
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al 18&2
b} 3only
c) 1,2&3
d) 2&3

250/Q
b) 250
c} 10
250/Q + 10

When the qverage cost is: r;slng the

~ marginal cost must also be rising:

'b) When the average “cost Is rising, the
marginal cost must be falling.

c) When average cost is rising, marginal
cost is above thie average cost. '

d) When the average cost is falling, the

marginal cost must be rising

a) Law of variance proportion
b) Law of increasing cest:
c) Law of decreasing c"

None of these &

a} the change in total cost due to a one
unit change in output.

b) total cost divided by output.

c) the change in output due to a one

a} :.Avercge fixed cost unit change in an input,
b).  Average variable cost d) total product divided by the quantity {
c) “‘Marginai cost of input.

d) Average total cost

Making pdfs, photocopies, xerox, sharing or selling MVSIR's Books is not allowed. It willlead
to shict legal action with monetary pendailties

éﬁ""Mohmsh Vora {MVSIR) ' . vsinin




MCQ Compiler

CA Foundation Dec 2023

a) If MC is greater than ATC, then ATC is
falling.

b) The ATC curve intersects the MC curve
at minimum MC. _

c} The MC curve intersects the ATC curve
at minimum ATC. s

d} If MC is less than AIC, then ATC Is.

increasing.

a) Total Cost
b} Total Fixed Cost

c) Total Variable Cost
d) Both [a) & {c]

b) Rs.350
c) Rs. 230
d) Rs.130

a} Tofal cost
k). ‘Average cost
c) Varigble cost
d) Quantity of output

AC horizontal

B AC rises

C AC falls

AC falls first & then rises

MC will rise ‘af o greater [
rate

MC falls but of a higher |
rate

MC falls at higher rate &

i then rises at higher rate

MC will coincide with it

CA Mohnish Vora (MVSIR)

(A) v L | Il
(B) v | i I
() | I I IV
(D) il I v |
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a) an increase in output | a) Must be decreasing
b) adecreasein output b) Must be above th
¢) constant output curve

d} None of these ' Must be constant

MCN = TCN —TCN-1

_ ATC
o) MC= G

¢) MCN = TVCN = TVCN-1

MCN=TFCN-~TFCN-T"

) TC=AC X Q .
b) TMC=TC
c) TMC=TVC
Y MC +TFC =TC

| a) marginal cost and average cost are
both faling

b) margino! cost and ov.erqge cost are
both rising '

c} mc::rglncl cost i nsung and c:veroge
~cost is falling _ '

d) it is impossible to tell if either of the
curves are rising or falling

Faling
b) Rising
c) Below average cost:
None of the abo

cxverc:ge cost. a) average cost is decreasing
c) Marginal cost is always equal fo the ||| ©) fotal cost is increasing
“averdge cost at its minimum point. c) Average fixed cost is decreasing
d) Marginal cost is clways equal to the |{| d} None of these
average cost

Making pdfs, photocopies, xerox, sharing or selling MVSIR's books is not allowed. 11 will lead
to strict legal action with monetary penaities
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Long Run Average Costs |

a} Long run average cost curve,
b) Short run average cost curve.
c} Average variable cost curve.
d) Average total cost curve.

a} 1 represents the least-cost input
combination for producing each level
of output,

b} It is derived from ¢ series of Short-run
average cost curves. '

c) The short-run cost curve af the
minimum  point of the long-run:
average cost curve represents the -

least-cost plant size for all levels of
output.

d} As output increases, the CtmOU
capital  employed by the

increases along the curve.

Falls when the LMC curve |

Rises when the LMC curve:
Goes through the lowest. POl
LMC curve e
Falls when LMC < LA(

LMC > LAC :

the

o Hises when

hzc{ues as it expcmds its ou‘rpu%
ficrease in productivity that resulis
speciatization

Both (a) & (b)

Planning curve
Envelope curve
Plant Curve

The _ in

coordlnahng the many activities of a
“large firm.

d)"The increase in productivity that resulis
from specialization

;:';. __'_‘output us.
' :'economies orscae.

U-shaped
Boat shaped
L-shaped
Both (a) & {b)

CA Mohnish Vora (MVSIR)
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a) profit curve
b) planning curve
c) demand curve
d} indifference curve

a) economy of scale .
b) diseconomy of scale.
¢) diminishing margina
d) Nonhe of these

a) ushaped
b) is also called envelope curve
c} bothaandb
d) none of these

al 1.&2only
b} 2 & 3 only
c) 1 &3only

d) 1,283

curve,

b} Also its long;
it explains “the
price and qudntity supplied.

the ob”r\i:_fr_hcxl plant in the short run as it
< tries to produce at least cost,

d)':Tang‘é’h’r to all the curves of short-run
average total cost,

al diseconomies of scale”
al economies of scale
rnal diseconomies of scale

a) Constant returns to scale
b} Diseconomies of scale

c) Economies of scale

d) None of these

Internal

a} Internal diseconomies,
econcmies '

b) internal aconomies, Internal
diseconomies

c) External diseconomies, Internat
economies

d) Internal diseconomies, external
economies

Mcnking D

@A""Mahnish Vora {MVSIR)
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a) Internal economies

b) diseconomies

c} external economies
d) Profit '

(G) X corre

b)Y
(c}Z

(d} All of them

declines so long as output increases.
b) marginal cost curve must intersect the
minimum point the firm's average
variable cost curve.
c) long run average cost curve s
typically U-shaped.

shaped.

a) short run average fixed cost curve

d) short run average total cost curve is U-

a) Technical economies
Bb) Financial economies
¢} Econofies due to locqlizotio

industries
Marketing economies

(a} Interest on Loan
(b} Monthly rent

{c) Insurance Premium
(d) Wages to Employees

(a) Taking a nap

Chamberlin *

(b) Going to University
c) Watching a football
Saturday afternoon

game on

(d) All of these

o |

| fixed cost?

(0] Explicit-cost
(b }Impllcn Cost
{c) Eithera orb
(d) None of these

CA Mfﬁ)hmsh Vora (MVSIR)

(0) MC Curve
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Answer Key - Economics Chapter 3 - Unit 2

105

106

107

108

89

109

10 90 110

n

11 1M1

12 72 92 12

13 73 93 - 113

74 14 |

14 94

15 75 ?5 115

16 76 96

116

17 77 117

97

18 78 98

118

19 79 | ¢ |9 | b |ne| D

0 80 | A |10 | A [120| A
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Basics

a) place where buyer and seller bargain
a product or service for a price

b) place where buyer does not bargain

c} place where seller does not bargain

d} none of the above:

the monopoly market
the oligopoly market
in the market where .

a) A particular geographical place

b) Confrol of the government

c) Close contact between buyers and
- sellers

d) None of these

e

";Ecgnomlc value
oth {a) and {b)
} None of these

the time lost in finding it .
b} the quantity of other goods sag ifi

to get another unit of that good
c) the expenditure on the good
d} the loss of inferest in using sav

Cannot be increased
bey ’rhe Ic:1w of M|_;-___ ;

a)} Market is the collection of buyers and
sellers with the potential fo frade.

b) A market need not be a formal.

c} A market need not to be held in a
particular piace.

d) A market must be formal or to be held
in a particular place,

a} -Value in‘use only

b} _;'_Exchange value only

c} Bothvalue in use and exchange value
d} None of the above

a) How government works
b} How markets work

¢c) How consumers behave
d) None of these

CA MOhnish Vora (MVSIR)
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a) Deadlers and wholesqiers
b) Buyers and sellers

d} Sales man and competitors

) | b} reguiated market
c) Owners and channel partners

whole sale market

c) unregulated market
retail market

a) the supply is fixed

) the demandis fixed -

c) demand and supply are fixed
d) none of the above

a) Perishable G
b) High Nal
Commodl’nes

Smail Bulk

- Adam Smith
b} Alfred Marshall b
c) Pigou

d} Lionel Robinson

b) Geograpmc area

~d) Al of these

) Tlme

c) Volume of business -

regional market
b) local market

c) national market
none of the above

a) Retail Market

very short peri
short period
very iong perio

o0 oo i

b) Product Market
c) Factor Market
d) Both (0) & (b)

a) unregulated market
b) regulated market
c} spot market

. d] none of ’rhe qbove

é&’hﬂ@hnish Vora {(FMVSIR)
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b) Wholesale and Retail market
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a) Wholesale market
b} Regulated market
¢) Spot market

d) Retaii market

Profit Curve
b) Demand Curve
¢} Average Cost Curve |
d} Indifference Curve

a} Gold and silver
b} Vegetable and fruits
c) Bricks and sand

d) Supply of capital

Concepts of TR, MR, AR

The chonge in price dmded by the

chonge n.output.

Hange in quantity divided by the
changé in price.

¢)..The change in P x Q due to aone unit
'jchcmge in output.

d) Price, but only if the firm is a price
sedrcher. : _

CA Mohnish Vora (MVSIR)

prlce per unit x

is dalso colted

price x quantity .
b) price x income, '
c) income x qucln’n’ry
d) none of the above

a} per unit of input

b) per unit of outpud

c) different units of input

d) different units of output

a) MR/ Q

b} Price x quantity

c) IR/ Q

d)} none of the above

~ Making pdfs, photocopias, xerox, sharing or selling MVSIR's books is not allowed. It will lecid
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q) Price
b) income
c} Revenue
d) none of the above

a) Gold and sitver

b) Vegetable and fruits
c) Bricks and sand

d]) Supply of capital

gie in P & Q due to a one unit

chiahgeiin output.

Nothing. but price of one unit of

' change in quantity divided by

“‘change in price.

| Graphically it denotes the firm's supply
curve. .

a} zero

b} negative
c) Positive
d) one

a) MR = AR + [e-1/e]
b} MR=ARX [e -1/€]

Positive c) AR=MRx[e-1/¢]
b) zero d) MR=ARx [e/e -1] N
c} One : E

negative

a) . Negative a) Rs. 4000
b):zero : b} Rs. 450
c) Positive ¢) Rs. 200
d) one d} Rs. 100

Making pdfs, photocopies. xerox, sharing or selling MVSIR's books is not allowed. It will lead
to strict legal action with monetary penattfies
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o |}
Quantity D2 masnded

a) TotalRevenue (TR)

b) Marginal Revenue (MR)
c) Total Cost (TC)

d} None of these

60
b} 100
c) -60
None of these

b) Rs.20/unit
c)” Rs. 30/unit

d) Rs. 40/unit

q} Posifive

b} Zero
C) Nego’rwe

a) Total = venue curve s sfraight
ups "‘p|ng line because a firm's sales
yendent of product price.

‘marginal revenue curve lies Qbove
e demand curve because any
&duction in price applies to all units
sold.

The marginal revenue curve lies below
the demand curve because any
reduction in price ‘applies to all units
sold.

d) Marginal revenue curve lies below the
demand curve  because  any
reduction in price applies to only extra
unit sold. '

c) 15
d) none of ihese

CA Mohinish Vora (MVSIR)
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Less than one 1| a) total product curve.
b} More than one b) average product curve
¢) Equaitoone - _ c) marginal product cury,

Equat to Zero implicit product curve

Profit curve
Averogé‘: R

a) Marginali revenue may be en‘her
positive or negative.

b} The demand curve s relcn’rvely
inelastic.

¢) Marginal revenue is posn‘lve

d} Marginal revenue is negative,

? | heipsto determine ~

a} Profit maximizing output
b):25 . b} Profit/unit

c) 30 ¢} Price/unit

d) 40 d) Totalrevenue

Making pdfs, photocopies, xerox, sharing or seling MVSIR's books is not altowed. If will lead

to strict legal action with monetary pendities




 MCQ Compiler |
CA Foundation Dec 2023

Behavioral Principles

a} 1

b) O

c) High

d] None of these

The firm should d&ir
b) The firm should:hi
The firm shouid

,else price. :
redse ou?put

b) Rs. 10
c} Rs. 90

sion making within the firm s
iy undertaken by managers, but
‘never by the owners.
the ultimate goal of the firm is to
maximise profits, regardless of firm size
or type of business orgcmlsa’non
as the firm's size - mcrec:ises 0. do. its
goals.

b} Total revenue s d) the basic decision mclklng unit of cmy

muttiplying the  total numiser _o i firm is its owners

commodity

c) Average revenue i i
earned per unit of an

d) Total revenue is::
average revenpue

a) average total cost equals price at the
profit-maximising level of ouiput.

b} average variable cost equals price at
the profit-maximising level of output.

c) average fixed cost equals price at the

name of demand curve is-

a) :MR-curve ' profit-~maximising level of cutput.

b} AR-curve d} marginal cost equals price at the
c) “IR- -curve profit-rmaximising level of output.
d) MC-curve

ocopies, xerox, sharing or selling MVSIR's books is not allowed. It will lead
1o strict legal action with monetary peancllies
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The firm should shu?down in order 10 Rationdl, if the
minimise its losses. - varioble cost
b) The firm should raise ifs pnce enough b} Rational, if ’rhe fire
to cover its losses. _ : cost

¢} The firm should moveé its resources ’ro c) Irrational, _sin

- another industry. necessary

d) The firm should continue to operate in d) Irrational;, sk
the short run in order to minimize ifs eliminated:

losses.

Total fixed cost
‘Marginal cost - - _
) Average fixed cost

i Total variable cost:

a) 'produce where morgml reve
eqguatls marginal cost if it is operca’r

- the short run.

b) produce where mqrgmal
eguals marginat cost if it is of

a) Price does not at least cover caverage_

the long run. o total cost.
c) shutdown, since it will lose.nothing In f1 1 15) Price does not equal mc:rglnot cost.
that case. c) Economies of scale are being recped.
d) shutdown, since It en cover d) Price Is greater than long run average
Its variable costs if it staysin business. cost '

a) Price is equal to AVC o) Negative

b). Total revenue is equal to TVC b) Zero

c) Totall loss of the firm is equal to TFC c} Positive

d) All'of the above d) Any of the above

Mcunr} pdfs, photocopies, xerox, sharing or selling MYSIR's bocks is not allowed. It will lead,
to strict legal action with monetary pendilties
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marginal revenue. a) Buyer
b) marginal cost. o ] P) Service
c} average totalcost. . ¢} Firm .
d) average revenue. : 11} d} Bargaining for price

a) Marginal . revenue is grater than
marginal cost

b) Marginal revenue is less than marginal
cost

c) Marginal cost is greater than marginal
revenue .

d) Marginal revenue is equal to marginal

cost

CA Mohnish Vora (MVSIR) : © mvsinin
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o Econom' c 5 Chqpfer 4

Determination of Price

a)
o)

price will increase.

price will decrease.

o) Rs.2
b} Rs. 3
c) Rs. 4
d) Rs. 5

: The

equilibrium price and
be grec:’rer ’rhcm ’rhe

new equilbbrium price wil be
greater than the original equilibrium
ice but equilibrium quantity will be
higher. \
new equilbrium price ond
quantity will be lower thanh the original
equilibrium price and quantity, . '
The new equitibrium price will be lower
than the original equilibrium and the -
new equmbrsum guantity will be
higher.

an overall
increase in equilibrium quantity.

b) an overall increase in price but @
S '-ln___.equsilbrlum qucmh’ry

an overall decrease in price and a
_._decrec:se in equ:llbrlum qual niity.

d).no change in overall price but G
-reduction in equilibrium quantity

se in price but an:

an increase in equilibrium price and
quantity. '
a decrease in equilibriuvm -price cmol
quanmy

an increase in equilibriium quantity
and uncertain effect on equilibrivum
price.

a decrease in equilibrium price and
increase in equiliorium quantity.

CA Mohnish Vora (MVSIR)
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a) Price will increase; quan’nty ccmno’r be
determined.

b) Price will decrease; qucn’nty cannot
be determined.

c) Quantity will increase; price cannot be
determined.

d) Quantity will decrease; price cannot
be determined

1 & 4 only
b} 1.2 & 4only
c) 3&1only
- 4 only

a) incregse In vilibrium  price and -
decreose in equiliorium qua rity

b) decréjé:’:‘se,_._in equilibrium  price and
i q5ein éQUIlIbl‘Ium quon’ri’ry

c) no chonge in equilibiium price and
“increase in equilibrium guantity

d]”_mcrecse in equilibrium price and no

change in equilibrium quantity

increases and the
or not change.
does not change

" A decrease in supply occompomed

AR increase in demand, without a
change in suppiy

by an increase in gemand
A decreqgse in supply Withou’r a

change in demand
An increase in supply accompanied
by a decrease in demand

exceass demand af the originat price.
excess supply at the originai price.
the supply curve shifting 1o the right.
the demand curve shifting 1o the left
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Economics C

a} There is an increase in the quantity
demanded of apples and |n the
supply for cppies

b) There is an increase in the demqnd.
and supply of c:ipples .

¢} There is an increase in the' demond for'
apples and a decrease in the supply
of apples.

d) There is an increase in the demand for

apples and an increase in the quantity

supplied.

Point 3

Point 5
Point 8
Point 2

the equilibrium price and quantity;
both rise
b) the equilibrium price and quc:tnh’ry
baoth fall '
c) the equilibrium price rises but noth
cerfain can be said about the ch
in equilibrium quantity.
d) the equilibrium quantit
nothing certain can be s
change in equilibrium pris

Point 3
Point 4
Point 5

Point 5
Point 6
Point 1
Point 2

pdfs, photocopies,
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a) Price increases

b} Price decreases

c) Certain change in pnce
d) Uncertain change in price

~o 0o ]~]o

Wi~

.
o
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Perfect Competition

a) Large nurber of buyers and seliers
b} Homogeneous product

c) Freedom of enfry

d} Absence of transport cost

a} Average cost
b} Marginal revenue
c) Demand

d) Supply

Horizontal
Vertical
Positively sloped
" Negatively sloped

a0Ta

& humber of firms.
ect mobllity of factors.
rmative advertising to ensure that
sumers have good information.
Freedom of entry and exit info and out:
of the market .

a} IR=PXxQ

b} AR = Price

c) Nega’rlvely— sloped demand curve
d) Marginal Revenue = Price

a) Large number of firms in the industry.

b} Outputs of the firms are perfect
substitutes for one anoiher,

C) Flrms face downward—slopmg demqnd
curves.

d) Resources are very mobile.

,ik:iu pdfs, photocopies, xerox, sharing or sefing MVSIR's books is not allowed. It will lead
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The individual firm must have fewer
thon 10 employees,

b) The individual firm faces a downward-
sloping demand curve.

c) The individual firm has assets of less
than Rs. 20 lakhs.

d) The individual firm is unable to affect
market price through its output
decisions.

Monopoly
Monopolistic competition
QOligopoly
Perfect competition

marginalrevenue is less than pnce
merglnal revenue is equal to price.
marginal revenue is greater
price..
the relationship between marginal
feveniue and price is indeterminate

than

CA Mohnish Vora (MVSIR)
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Monopoly
Monopolistic compet
Cligopoly

merket Thcﬁ any individual firm
deannot offect the market. -
) each firm produces o homogeneous
‘ péduc’r.
} there is easy entry into or exit from the
“ market place

its average revenue., -
its marginal revenue.
its marginal utility for money curve.
its marginal cost curve

Even a monopolistic firm can have
losses.

b) Frms in a perfeclly competifive
market are price takers.

c} I is aiways beneficial for a firm in «
perfectly competitve market 1o
discriminate prices.

d} Kinked demand curve is related to an

oligopolistic market.
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Even monopolist can earn iosses
Firms in o perfectly competitive
market are price-takers

It is always beneficial for a firm in the -
perfectly  competlitive market ’ro :
discriminate prices
Economic laws are less exact ’rhon The
laws of physicat sciences :

b) MC = AC
¢) MC=MR
d) AR =MR

The best quoh’ry goods are produced '

The ;-‘*hlghiy\\:::___sk;llful rosources in the
v. are fully employed

All: resources are utilized and goods

“and services are produced at least

“cost

None of the above

MC = MR

polis.ﬁc competition.

‘There are many buyers and sellers in
the market. :
The goods offered for sales are largely |
the same., o
Firms generate smoli but - positive
~ supernormal profits in the long run. '
Firms can freely enter or exit the .
market. :

d) Eleckicity

b) Cable television
c) Cola

d} Milk

Mriklﬂq
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a) Demand curve is downward sloping

b} The demand curve aiways lies above
the marginal revenue curve

c) Average revenue need not be equal
to price

d) Price is given and is determined by the

equilibrium in the entire market

a) the infersection of the mgargindt

and marginal revenue <.
b} their efficient scale |
c) zero economic profi
d) ol of these answers

orrect

a) pnce -maker and not price-taker
b pnce -faker and not price-maker

c} n_e er price-maker nor price-taker
d} none of the above

Making pdf
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a) Normal profit
b) Abnormal profit
c) Loss

d} No profit, no loss

a) Price rigidity is an important feature of
monopaoly.

b) Seling costs are possible under perfect
competition.

¢} Under perfect compe’nhon factors of
production do not move freely as
there are legal restrictions.

d) Anindustry consists of many firms.
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a) Under monopoly there is no difference
between a firm and an industry. P=MR=SAC = LAC
b} A monopolist may restrict the output b} D=MR=3MC=ILMC

and raise the price. c) P = MR = Lowest point. e LAC
¢) Commodities offered for sale under o curve :

perfect  competition  wil  be All of the above

heterogeneous.

d) Product differentiation is oeculiar to
monopolistic competition

Q) Margmoir enye curve
cost curve

a) MR =MC :

b} MC should cut MR from below.

c} MR = AR and MC should cut MR from
below.

d] MR = MC and MC shouid have d |
positive slope

- MC curve

AC curve
c) TC Curve: . _

d) noneofthese.

Perfect Competition
b] Monhopoly
¢} Oligopoly
None of the above

MC = MR
b) MC cuts the MR from below
c) MC isrising when it cuts the MR
d) All of the above

a) .Perfect Competition a) price :
b) :Monopoly b} production as well as price g
c) -Qligopoly c) production, price and consumers *
d) Monopolistic d] none of the above ;

Making pdfs, photocopies, xerox, sharing or seling MVSIR's books is not allowed. It will lead
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a) Monopoly
b} Perfect competition
¢) Price discrimination
d} Qligopoly

a) normal profits

b) supernormat profits.
c} production

d} costs

AC and MC of production
. Jal MC of production only
) Equal TC of production only

d) None of these

¢) doubles.

b) more than doubles,
c) less than doubles.
d} cannot be determined becc:use ‘rhe""j 13
price of the good may rise or fall -
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a} Rs.7.25
b} Rs.72.25
c) Rs.72.57
d} Rs. 8550

d) Produce 25 units

b} Rs.74
¢} Rs. 450

a) Continue to product
number of units as befo
price

b) Produce 10 units

¢) Produce 20 units

a) 30
b) 35
c} 45
d) 50

Maonopolistic competition
Oligopoly

‘Pire monopoly

Pure competition

Making pdfs, phoiocopies, xerox, sharing or selling MVSIR's books is not allowed. It will lecd
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a} Rs. 4.40
b) Rs.7.50
¢) Rs. 85

d} Rs.92.50

its demand curve onl
both its demand &

c) Rs. 176
d) Rs. 880

cos’r

15 units

b} 30 units
c) 35 units
50 units -

ariable cost curve.

Th

curve intersects ’rhe

Monopoly

a) Shut down
b) Produce 5 units
¢} Produce 20 units
d} Continue fo produce::the same
number of un:’rs as:before the drop in
price

d} Oligopoly

b) Perfect Competition
¢} Monopolistic Competition

b) increases by o constant  absolute
“amount as output expands.
} g_r__c:ph_s as a shraight upsioping line
from the origin.
d) has all of the above characteristics.

g} Price willremain

d} None of these

b} Price will decrease
c) Price will decrease

constant
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a) TR=TC
a) large numbers of buyers and sellers b) TR>TC
b) products are homogeneous c) IR=TVC
¢) firms are free from entry c:nd exit from d} none of these
the market

d} all the above

large number of buyer and seller, free

entry and exist '
b) homogeneous product d)
c) both (a) and {b) _

d) large number of buyer and seller,
homogeneous product, perfect
knowledge about the product

opbiistic competition”

a) Adverfise z‘o increase ’rhe demqnd for.
their products. .'

b] Do not advertise because most
advertising is harmful for the someiy

c) Do not advertise because they can
sell as much as they want at ’rheﬁ
current price., :

d) Who advertise will get more proﬂ’rs
than those who do not :

Monopoly ;

b) Perfect Competitic

c) Monopolistic Competition
Ollgopoly i

a) perfec’r competition a) Monopoly

b) oligopoly b) Monopolistic competition
g) monopo:yT Hfion c) Perfect competition.
) monopolistic competifio d) Oligopoly

Mokir‘m’g ndfs, photocopies, xerox, shcninq or selling MVSIR's bbooks is not allowed. It will fead
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 _ Economics Chapterd

Partial Perfect competition
b) Moderate b) Oligopoly
c} Full c) Monopalistic Competiti
d} Qver Monopoly

LAC
LMC
AFC.
SAC

m'’s profit function is

nue - equcjis

Marginat

marging
cost, h

Monopolls’r can earn only profits

Firms in o perfectly compe’rl’ﬂve
market are price maker
Industry in a perfectly compeﬂhve7
market is o price taker
AR curve and demand . Curvg
same ‘

Perfect compe’rmon
Monopoly :
Ollgopoiy

faling, total revenue will rise at «

If marginal revenue is posi’rive and

decreasing rate, .

Total revenue i$ equc:l to price hmes
the quantity sold.
Under perfect competition, total

revenue is equal to marginat revenue
times the quantity sold.
All of the above

considered by buyers to be different
~Buyer disctiminates in their purchases
based on non-price factors.
THere are no obstacles to the free

mobility of resources

Maximizing profit per unit of output.
Maximizing the difference between
total revenue and total cost.
Minimizing toial cost

Maximizing totdl revenue
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That portion of the short

MC > MR
MR> MC
c) MC=MR
AC = AR

cost curve that is abov:
variable cost curve
b) Thai portion of the
cost curve that is d

total cost cu rve

Thett por’rion of s"i*ii“ciﬁr;t

Perfect cormpetition
Qligopoly

Monopolistic Compehhon
Monopoly

 total losses

izing total profit

sub normal profit
normct profit

¢} abhormal profit

j) super profit

Comaximizing  total
.. minimizing totat losses
‘None of these

profit  or

Downward sloping
Upward sloping
¢) Horizontal
Vertical

Marginal revenue
b) Average revenue
Marginal cost curve
None of these

a) -Monopoly market structure

b): Oligopoly form of market

c) ‘Moropolistically competitive market
d) Perfect competition

Eairn normal profit
Eairn super-normal profit
c) IncurlLosses

Any of the cbove
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a) Mobile phones

b} Car
c) Utensils
d} Agricultural produc

a) AC = MR

b) TR=1C

¢} firmwillecrn supemormol profit
d) None of these

Monopolistic Competition

OUTPUT

b) Proc ]
c) Arelatively large number of sellers.
Ahemogeneous product

a) Incuring Losses
b} Earning super-normg
c) Earning normal prof
d} Any of the above

a} Less elastic

b) More elastic

¢} More steeper

d} None of the above

a) maoxi g tofal profits

b) . mlnlmlzmg total losses

c) -either . maximizing  totall
‘mmumlzsng total losses

d} madximizing profits per unit.

profits  or

a) perfectly competitive.

b} monopaolistic.

c) monopolistically competitive.
d) oligopoilistic

to strict legal action
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Economics Chc

Monopoly but not compe

a) in monopolistic competition, firms can b} Monopoly and compe’r
differentiate their products. | features of

b) in - perfect competition, firms con predominating
differentiate their products. Mongcpoly and

¢) in monopolistic competition, entry into.
the industry is blocked.

d) in monopolistic competition, there are
relatively few barrers to entry.

Cthe bariers o

produci

):larget the number of compemors
). smicdler the number of competitors

a) the efficient output level wil be
- produced in the long run.
b) fims will be producing at minimums
average cost.
¢) firms will only earn a normal profit,
firms redlise all economies of scalg.:

a} Perfect Competition -
b} Monopoiistic Competition
c) Monopoly

d} None of these

a) Price
b} Outpui
¢) Bothaandb

II:\:c;:sii ‘that it wants fo of || | 9} Eitheraorb

the established:market price.

c) the XYI Co. is not a price-taker in the
market Because it must lower price to
sell additional units of outout.

d) the XYZ: Co. will not be able to

77 | architectwas:

“moximise profits because price and g) E"Ode”
revenue are subject to change. ) arx
o ¢) J R Hicks

d} Chamberlin

Making pdfs, photocopies, xerox, sharing or seling MVSIR’s books is not allowed. I will lecd
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a} Oligopoly a) Monopolistic Competition
b) Monopolistic Competition b) Monopoly

c) Monopoly ' . c} Oligopoly

d) None of these - : d} Perfect Competition :

Large number of sellers
homogeneous Product
c) freedom of entry and exit
d) non price discrimination

a) e>l

b) e<1 | b} “Partect competifion
c) e=I oo | [ie}l Monopolistic competifion
d) none of these _ - | }id} Oligopoly

a) Perfect competition

b) Monopoly

c} Oligopoly

d} Monopolistic competition

*:| commonin a'sifuatl

Ait:has no controt over price of

its produ i
b} To lower:its cost of production a) Excess capacity
c)- Jo increase its sales and profits b) Monopolistic competition
d)Because it cannot raise price of its c} Monopoly

product d} Pure competition
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conomics Chapter4

a)] monopolistic competition
3} monopoly : _
c) perfect competition

d] oligopoly o

Q) Free entry and exit

b) Abnormal profits in the long run
c) Many sellers

d) Differentiated products

Firm face a perfectly elosii

for its product ;
Does not face a perf
demand for its produg
Cannot be determi
None of these '

always earns profits
b) Incurs losses

c) earns normal profit only
dj may earn normal profl’r supernor
profit or incur losses -~ -

infinitely elastic
b) downward sloping at
c) downward slopin
demand curve,
none of theseg,

imore elastic

ighly inelastic

Q) A hc:mburger
b).f.A shirt.

c) An.automobile
d) All of the above

Price is greater than marginal cost
Price is greater than marginal revenue |
Both (A} and (B)

Price is equal to marginai revenuve

Monopoly

Monopolistic competition
Ducpoly

Qligopoly
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a) Monopoly
b) Imperfect Competition
c) Oligopoly
d) Perfect Compehhon :

_ Monopoly '

a) from different groups of consumers
b) for different uses :

c} at different places

any of the above

none
P} some

c) very considerable
none of the above

a) Perfect compe’rmon

b): Monopolis’nc competition
c) -Buopoly

d) Monopoly

“The
- econom|es of: '_"

The government h
patent  right
commodity.
costs &
le makes production
ér.more efficient.

There is enormous goodwill enjoyed by
a firm.

There are stringent
regulatory requirement.
There are very large Economies of
Scale. '

There are Business Combinations and
Cartels

legal  and

AR curve lies above the MR curve

AR curve coincides with the MR curve
AR curve lies below the MR curve

AR curve is parailel to the MR curve

MrlL:nq pdfs photo
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a) Perfect competition
b} Oligopoly

c} Monopolistic competition -
d} Monopoly -

In compelitive markets, price equals
marginal  cost;  in monopolized
markets, price equals marginal cost,
In competitive markets, price exceeds
marginal -~ cost;  in monopolized
markets, price exceeds marginat cost.
c) In competitive markets, price equals
marginal  cost;  In monopolized
markets, price exceeds marginal cost,
d) In competitive markets, price exceeds:
marginal  cost;  in monopolized
- markets, price equals marginal cost. -

a)

r to entry, the

The. stronger thebi
nds  the _monopolis’r’s-

more elastie
demand cyrv

Price exceeds:marginal revenue ot dl
eaterthan 1.
Demghd is perfectly inslastic.

Margingl revenue equals price ot afl
ha Pree

Blocked entry

b) The high price he ¢
c) The low LAC cost
Advertising

MR curvé cannot be defined

b) -AR curve cannot be defined

c):-the short run supply curve cannot be
“defined

d) none of the above

o strict leg
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Every increment of the goods would
be priced separately so as to capiure |
the entire consumer surplus,

Every increment of the goods would-
be priced evenly.

Every increment of goods would be
priced higher than the previous one,

Every increment of goods would be
oriced lower than the previous one.
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P<MC
c) P=MC-
d) None of these

Zero
b} High
Infinity

a} 1 only
b) 2only
c) 18&3only

d) 4 only

a) Monopoly :
b) Monopolistic competition
c) Perfect Competition

d) Bothaandb

) .Véry small
¢ High
Either (o) or {b)

Marginal revenue equals price,
b} Price.must be lowered fo sell more
outpu!

¢} The eldisticity coefficient will increase
-Gs price lowered.

d)its  sipply curve wil alko  be

downsloping.

a) Losses

b) Profit

¢) Super normal profit
d) None of these

Making pdfs, pholocopies, xerox, sharng or selling MVSIR's books is
with monetary penallies
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The monopohs’r need no’r produce c:n‘ His output is maximum
the optimal level b} He charges high price
b} Produce ot the optimal Ievel ' ¢} His average cost is minir
c) Eitheraorb _ - d} His marginal cost is

Lo tharginail
None of these revenue '

pure monopoly

b) discriminating monopoly a) Just haif 6f.the rate of decline of AR

c} perfect competition : Just equalf she,rq’fe of decllne of AR
d) none of these :

q) duopoly

b} monopoly .
¢} perfect competition
none of these

Sells below costs of production in both

markets

b) Practices price discrimination.

¢) Eguates the volume of sales in both
markets, :

d) Equates marginal costs with marginal:

revenue in one market only

a) ushaped
b) inverted u shaped
c) downward sloping
none of these

They restrict the output to keep the
price higher ihan under perfect
compefition.

b} They charge a price higher than the

Q) Mbnoﬁolisﬁc competition

b). Perfect competition marginal cost.
c) Oligopoly ' c) Both (a) and (b} are correct.
d) Monopoly d} Both (a) and {b} are incorrect
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a) Uniform
b} different
c) Less
Zero

Perfect Competition
b} Monopoly
c) Monopolistic
Oligopoly

monopaolistic competition
b) monopoly
c) perfect competition
d) oligopoly

a) . first degree of price discrimination
b} second degree of price discriming
c) third degree of price dlscnmmeﬁoh
none of the above

arges different prices in different

markets

) Charges same price -
Charges many prices

All of the above . .

f|rs? degree of price discrimination
b) second degree of:price’ discrimination
c) third degree of:price discrimination
none of the abbove::

aj ;-_:Time _

b): size of the purchase
c)”-lncome

d} any of the above

Making pdfs phorocopies
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a) First degree of price discrimination

b) Second degree of price discrimination
c) Third degree of prace discrimination

d} Fourth degree of price discrimination

1 a) horizontal straight line

b) indeterminate
c) downward sloping
d) upward sloping
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1,2,384

b) 2,3,485

c) 3,485
1,2,485 '-

price

service to different buyers:t

more different  prices

difference in cost
c} Producer sells a specific’
service to different.

b} Producer sells specsf:c comm

aj Aifred |
b). Prof. Pigou

c) Hicks & Allen
d) Adam Smith

seller should have some
the supply of the Produ
) pric:e elcs’rici’ry o‘f the..r

Al of these

Both (A) and (R} are true and (R} is the:

correct explanation of {A)

b) Both {A) and (R) are frue and (R} is not
the correct explanation of (A} -

c) {A) is frue but {R) is false

d) {A) is false but (R} is frue.

a) Demand curve has a positive stope.
b) Demand cutve has a negative siope.
c) Monopolist incurs losses.

d) Monopolist is in equilibrium.

a) 1t will stay in the business

b) Go outof business

c) Wil break even

d) Any of the above is possible
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a) Always when the product s a) Thereis a singte seller
homogenous ' The firm is a price taker ¢

b) Always when the product s i
differentiated :

¢} Sometime

d} None of these

a) Price maker

b] Price —taker

¢} Price adjuster

d} None of the above

a) <i
b) >1
c) =0 d}. Varable

d) None of these R R e
Oligopoly

breaks even,
b) incurs aloss,
c}) makes o profit
any of 1he above,

a) A standardized product

b) The goal of profit maximization

¢) The interdependence among firms

d) Downward-sloping demand curves
faced by firms '

equal o fong run MC and AC ‘designed fo explain

c) ;.Produchon takes place where long run
“MC is equal to MR and price is not
‘Pelow the long run average cost.

d) All of the above are correct

c::) Price and output de’rermlnohon
b) Price rigidity

c) Price leadership

d) Collusion among rivals.
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Toothpaste ' 18.7

Dentipaste 14,3

Shinibright 1.6

| can't believe its not

toothpaste 9.4

Brighter than white 8.8

Pastystuff o 7.4

Others 298

horizontal demand curve.

too much importance
competition.

price leadership.
a small number of fi

c:) Perfec’f compe’ﬂ’rton

b) Monopolistic competition,
c) Oligopoly .
d) Monopoly. . -

a} the response {of CO
~increase is less th
~ price decredse
b) the respon;
increase Is

a price decre se. :
icity of demand is constant

nsumers) to a price
an the response 1o

d} The elasticity of demand is perfectly
elastic'if price increases and perfectly
inelastic if price decreases.

(Z‘:& Mehmsh Vora {(MVSIR)

Monopollshcc:tlly compehhve .

a monopoly -
an ohgopoly _
perfectly competitive

differentiated
homogeneous
urrelated

| hone of the above

syndicated ollgopoly
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| Economics Chapler 4

a) organized oligopoly

b} partial oligopoly

| ©) competitive oligopoly
d) syndicated ofigopoly

a) firm
b} price leader
c} industry

d} none of these

a} The same as if it were served by Q
monopoly

b} The same as if it were served by
competitive firms

c) Efficient because
improves efficiency

Known as Nash equmbrsum

cooperaﬁon

a} Collusive olig
b} Non-collusive
c) Perfect ollgopoly

d) Imperfect oligopoly

Oligopoly
b) Monopoly

c) Duopoly

Perfect Competition

b} Monopoly
c) Oligopoly
None of the

a} Perfect Competition
b} Monopoly

c) Oligopoly

d) Monopsony

b) perfec’r competition market
c) monopoly market
d) monopolistic market
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barriers to entry.

b) afew large firms and no entry

c} o large number of small firms and no
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a) Price and output determination
b) Existence of very few firms in the
- market . L

c}. Price rigidity _

d) Price leadership

b)
c)
d)

Il & Ill are cotrec
I} & IV are corfect

a} are characterized by a relatively large
number of small firms.
b) may produce either standardized or
differentiated products. '
c) always produce differentiated
“products. _
always produce stan products.

ohopolist
Anoligopolist

erfect competitor

] A monopolistic competitor

Q) Monopolistic Market
b) Perfect Competition - .
c} Oligopoly
Monopoly

Q) Duopoly

b) Monopoly

c) Oligopoly _
d) Monopolistic competition

Recognize their i
b) Do not collude

o a} The product is homogeneous

) The product is differentiated

¢} The industry is dominated by one iarge
firmn

d) The absence of price leadership

ustry is an example

a) ‘Monopoly

b} :Perfect Competition

c) Oligopoly

d} Monopolistic competition
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a) Infinite

b} Equal to one

c) Greater than one
d} Lessthanone:

Other forms of Market

a) Ducpoly Market

Oligopoly Market

Bilateral Monopoly Market
Monopolistic Market

Additional Praciice Queastions

There s

competitors

b) There are
in the marke \

c) Competitiondoes not exist

d} Product varigtion, ignorance of
cons f5:0 ONG distance &
tfransp ion costs lead 1O
Jmperfection in  the compesfitive

“market which operctes on certain
“assumiptions. '

imperfect competition

Differentiated product

Homogeneous
differentialed products

or |4

141,

Homogenous pfoduct

Sharpty
products

differentiated |

(A)

(B) Il I v
(C) \Y I i 1
(D) t \Y I I
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d). 1 &5onky
b) 3&4only-

c) 3&1only
d) 2only .. o .

Highest

b | second highest

Third highest .

monopoly.

Under perfect competiioh factors of
production do riot

Selling co \ory
competition,

J None of these

ginal Cosi Pricing

market Price
support Price
equilibrium Price

ceiling Price

'”f\)‘tonopolistic Competition i

T .| Perfect Competition

Id, Ti-c, i, iv-a
ieq, i, Ti-c, iv-d
idl, flia, fi-c, iv-b
i"qf H“C, iii”br iv‘"d

Excess capacity always exists
Excess capacity never exists

Excess capacity may or may not exist
None of the above
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UMTP Jun22

a} Perfect competition

b) Monopoly

c) Imperfect compeﬂﬂon

a) The market stucture cannot  be

determined as the information is
insufficient

Horizontal

Kinked .

Oligopoly

_Petfect Compefition

a) i-c, i-a
b) i-c,ii-b, ii-a”
c) i~q, ii-psii-c

6 | 10 1230
I 'fQ;" 180 1470
8 170 1850
9 160 2410

Makin
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\_Economics Chapterd

a) Rs. 252
b} Rs. 730
¢} Rs. 500
d} cannot be determined

a) Rs. 218 Loss of Rs.
b} Rs. 1090 Loss of Rs, é
¢} Rs. 730 Profit of

d} Rs. 210 _ Loss of Rs.

e

a) 160

b} 140 anl | P | ==t '
c) 120 |1 1@ Open Oligopoly .+ - .
d) 100: . Collusive Oligopoly " .« : _

Pure Ofigoply ~ -~ -
Full Oligoply

Close Cligopoly ' ' }
Collusive Oligopoly
Partial Oligoply
Full Oligoply

2092

Q) :7:"ﬁnits a} Consumers
b)-6 units b} Businesses

c) 4unifs c} Government

d) 8 units d) All of the above
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a) Firms have 1o incur a good deat of (CI) Perfec:’r Competition

costs on advertising and other sales {b} Monopolistic Compeh’non
promotfion measures in  oligopoly {c) Oligopoly

market {d} None of the above

b} A monopolist aiways earns
supernormal profit

c) Identical products are not found in a
competitive market

d) Close substitutes are available under
monopoly

223 | a) Pure oligopoly
a} TR equoIsTC b) Pure monopoly.::

b) The TR curve and the TC curve are c} Pure ¢ __v_‘peilhon
parailel d) Bo \

c) TC exceeds TR ' '
d) TR exceeds TC

(a) Duopoly
() Monopoly :
[c) Perfect Competition
{d) Oligopoly

[a) Selling costs are zero. .~
(b) There is freedom of entry and ex;’r
(c) Firm is a price-taker

(d) None of these

(0) Monopolistic Competition
(D) Monopoly

(c} Perfect Competition

{d} All the above

(a) Monhopoly
{b) Oligopoly

boih.._ _

(a} Perfect Competition \ [0] Pure Ollgopoly

(b} Monopolistic Compehhon (b} Non-Collusive Oligopoly
(c) Monopoly [c) Imperfect Oligopoly

(d) Pure Competition [d) Collusive Oligopoly
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_ Economics ¢

(a) MP is negative
(o) MP is diminishing -
(c) Eitheraorb
(d) none of these

(a) Homogerious

(b) Differéntiated
{c) Unrelated
(d) None of these

a) To enjoy economics of scale

b) To dispose of surplus stock

¢} To escape foreign market

d} To secure equity through pricing

(a1} There are few firms
(b} All of which are similar in size

producers _
(d) All of the above

a) Strategic over  scarce |
resource

b} Governme

(c) Most Cartels have only a Subset of

a) Perfect competitio
) Monopoly
c) Monopolistic competiti
d} Oligopoly

{q) Large number of sellers
{b} Product differentiation
{c} Freedom of entry and exit

{d} All of the above '

(a) Perfect Competition
(b} Monopoly
(c):Monopolistic Competition
(d) Noné of these

a) Industry is dominating by large number
of firms

b) Freedom to entfry and exit

c) No close substifutes

d) Only two firms is the market

CA Mohnish Vora (MVSIR)
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Answer Key — Economics Chapter 4 - Unit 3
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Basics

al the ups and downs in production of g} E;%c::s;on.

commodities
b) the fluctuating levels of economic <) "?r?)gk.h
activity overa period of time gn
¢} decline in economic activities over
prolonged period of time
d) increasing. unempioyment. rate cmd
. diminishing rate of savings -

Peak
b} Trough
c) Expansion

d) reconstruction

a) Econormc expansions are followed by
economic contractions.

b) inflation is followed by rising income
and unemployment.

c) -Economic expansions are followed by
ec:onomlc growfh and developmen’r

___economlc grow’rh T Boom
Recession

¢} Contraction - -

Trough

a) expansion, peak, contrac
trough

b) contraction, expansio
boom

Expansion, contfrac

a) ot peak
b) contracting
¢} expanding
d) ot lowest point

a) Consumer purchases of all types of
goods tend to increase.

b) _expcmsron phase always lasi more b) Employment increases as demand for

than ten years labour rises.
C) s'Ic:sT many years and are difficult to get c) Business profits and business
oveér in short periods confidence tend 1o increqse
d] none of the above d) None of the above.
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an expansion.
a contraction.
a peak.

a turning point

Trough
Depression
Contraction
Expansion

Falls; fails.

Rises: falls
Rises: rises
Falls; rises

Contractio
an expan5|

in invesiment. _
Expenditure decreases because of
rise in the interest rate. _

The government lowers the ’rd‘xe
an upturn.
Labour productivity decrec:ss‘
upturn.

Capacity increases because of the risei|

a) aninflation
b) a hyperinfiation
c) atrend

a) :business cycle

b} contraction phase
c) Recession

d) recovery

to shrict legal actior

CA Mohnish Vora {MVSIR)

: b:)_

Fall in the IeVels of inves"rmem‘
employment - : -
Incomes of wage c;md mieres’r eamers
gradually ~ decline resulting  in

decreased demand for goods and
services

investor confidence is .adversely
offected and new investments may -
not be forthcoming
Increcse in the price of inputs due to -
increased demand for inputs

Luxury
Necessity
Inferior
Normall
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_O)

Q) inflation in the economy

b) the money supply

¢} aggregate economic activity
d) the unemployment rate

b)
c)

Consumer spending on -
services tend to rise
Business confidence ten

a} Volatility.
b} Turning points.

c) Equilibrium points,

d} Real business cycle events

Fall

Later

b} Earlier

¢) Either (A) or {B)

d) None of the above

an inflation
b) ahyperinflation
¢} atrend
a trough

A typical feature of depression is the

rise in the interest rate.

A typical feature of deprassion is the

~ constant interestrate

Recession - is the severe from of:

depression

Depression is the severe from of-

recession

e A A N L T e P ST T T T A

a) Doesn'taffect inputs prices
b)::Pushes inputs prices up

c) Pullsinputs prices down

d) Either (B} or (C)

Expansion
Peak
Contraction
Recovery
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g} Expansion
b) Peak

¢} Coniraction
d) Recovery

d} The econom there  price s

b) The economy where
control major assets:
c) The economy wh
- productions areték
undertakings ¢

~decisions  of
y public sector

controlled’

a) Volatility,

o) Turning points.

¢} Equilibrium points.

d} Real business cycle events

Characteristics of Business Cycles

agl cuh‘urcal sector
: pusiness cycle Iccrgely affects smcH
.employees
The businass cycle generally affects all
sectors of economy buf business
“sector in particular,
The business cycle qffec’rs low wages
workers

and’;

Non-durable
seciors.

¢} Capital goods and
goods sectors,

d) Capital goods and. |

sectors. '

goods

a) Business cycles aiways affect all
sectors uniformly.

b} Business cycles may affect all sectors
uniformiy.

c) Business cycles do not affect all
sectors uniformly.

d) None of these

a} Doesn't: fffec’; inputs prices

b) - Pushes inputs prices up
¢} Pulls inputs prices down
d) Either (B) or (C)

Q) Agncuh‘ure
b) Service
c) Industrial
d) Can'tsay
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a) Business cycles occur periodically a) Business cycles are cont

although they do not exhibit the same international in characte
regularity. , b) Business cycles begin.in untry
b} Business cycles have distinct phases of and spreqd to o’rher hrough
expansion, peak, contraction and trade rejations.
: frough. c) Business  cycles
' c} Business cycles generally originate in consequences

. free market economies societies.
d}. All of the above '

a} They occur periodically. _
b} They generai!y oraglnct’re in free market

economies. R
) I Il t
c) They are mfemo’rtoncl in chc:rac:fer b DITCiISSTCeyc(::o?}sor%?ensera y originate in
d) They . do  not affect capitalist Business cycles are contagious and
economies. »

are internal in character - _
All sectors of the’' economy- are
adversely affected-in equal proportion |-

a] differ

b} similar a) Pervdsive in nature

c) consistent b) Occursin restrictive market economy
c} Periodical regularity

d) Can'tsay
'_ » d) It has same reasons always

No economy follows a perfectly fimed
cycle _
b} Economy follows o perfectly timed

a) _.ctlferno’nvely cycle :
b)_gjsmungneousgy c) Most of the economy foliows «
c} one by one perfectly timed cycle
d) All'ofthe above d) Capitalist economy foliow A perfec’rly

timed cycle
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Indicators of Business Cycles

a} Leading indicators c) gc,ﬂ:;ﬁob@ that
b} Indicators 3 consequent on the f‘vel sfaggregate

c) Lagging Indicators
d) Noneg of these

economic activity

a) A one stroke solution to check the
phase of economy

b) Indicators showing the movement of
economy

c) Some activities which predict the
direction of economy

d) Just aniliusion

1) are used fo forecast probable shifts in
~ economic policies. . R
b} are generally used to forecast
economic fluctuations
c) are indicators of stfock pnces exasimg n
an economy
d) are indicators of probabie recesmon
‘and depression

a} Lagging Indictor
b} Leading Indicator
c) Coincident

All of the above

(cz) Leading mdlca’ror
(b) Lagging indict
(c} Coincident

q) Industrial production
b) inflation

¢} Retail sales

d} New orders for plant and equipment

0) Leqdmglndmoior a) Consumer price index

b) Lagging Indicator b) Labour cost price per unit
c) Coéncurrent indicator ¢) Commercial lending
d) None of these d) Personal income
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Lagging indicator. ;
b) Leading Indicator
c) Concurrent Indicator
““Corporate profit
New consumer goods orders
b) Delayed deliveries
c) New building permits
Prime rate - _
a} variable that can explain the growth {
of production capacity, .' g
b} Variables that precede the actual ?
movements in  expenditure and
production.
c) The expenditure categories | of I}
consumption, investment and exports. :
d} Domestic and foreign indications
relating to the busmess cycle and the
tendency | | |
Yomestic Product (GDP) 59 flect db gl balb i
b} Gross National Product (GNP) copwasrellected by: o
c) 5;3:GFOSS NGT!OF\CIE Income (GNi) ((1} Lagging indicating
d}- Growth rate of GDP or GNP (b} Leading indicating
R {c) Either {a) or (b}
{d) None of these .
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a) interest rates o rise,
spending to rise,
demand to rise

a) Laggir)g'indj_cquor | b} interest rates to estment
b} Comc_nde:nt [ndicc:’ror . ) spending to fall 4 agaregate
c} Leading indicator demand to fall ;
a4 Nohe offhese T c) interest rates investment
: : : spending to - aggregate
~demandtori
d) interest ra investment
spending.. aggregate
demand’

a} Changes in stock prices

b) Changes in unemployment rate

c] Changesin GDP

d} Change in commercial iending
activity

e of these

a} Hawtrey
b) Adam Smith
c} JMKeynes
d) Schumpeter

Concurrent indicators
b) Compound indicators
¢} Coexist indicators
Random indicators

a) fluctuations in effective demand.
b) macroeconomic policies

c) money Supply

d) All the above

dicators
sading indicators
¢} Concurient indicators
d) ‘Coincident indicators

a) Fluctuations in effective demand
b) Fluctuations in investment

_ R c) Macro-economic policies
Causes of Business Cycles d) Post war reconstruction
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a) Fluctuation in aggregate effective
demand. :

b) Innovations

c) Changes in money supply

d) Fluctuation in agricultural output

nnovations: ’rake ploce in
the sysfem

Woves;gf op’gim;sm‘or

Fluctuations in aggregate effective

demand . Schumpeter
b) Fuctuations in investments Keynes
c) Fluctuations in government spendlng ;
d} Allof the aoove Hawirey
AC Pigou

b, lii-c, iv-d
i~d, fi~q, iii-c, iv-b
d) i~c, ii-q, ii-d, iv-b

Lower. aggregate expendlture in s
economy. :
b} Banking crises and low money s
c} Overdebtness. _

Lower profits & pessimism

a} will push the economy fo siow down “
because of excess external debts.

b) wil cause pickup in economic
- activities as the reconstruction pushes | |
up effective demand & in tumn:
-employment and income. .
c] can cause boom or recession

depending upon the policies for
reconstruction adopied by govt.
d} Neone of these .

mone?cry Phenomen
b) unplanned Pheno'f’_’[en@n
c) fiscal Phenomignon
all the aboy.

40 ;_Gre dUE':-*O: o o

(c::) tnnovo’nons

(b} chcmges in money suppiy

{c) Fluctugation in aggregate effective
demadnd

(d) Fluctuotion in government spending

a) Change in money supply
b) Profitability

¢) Fluctuation in aggregate demcmd
d) None of these
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a) Unemployment rate
b) Inflation rate

c} interestrate

d) Economic growth rate

to the right.

b) the aggregaie demond.
to the left.

cl a movement down
along the aggrego

d) a movement upiar

the aggregate

Q) Pigou
b} Schumpeter
c) Hawtrey

Keynes

Fluctuations in, Effective Deman
b) Fluctuations in Investment
c) Variations in government spendmg
war

Hawirey
b) Pigou
¢} Schumpeter
Keynes

ause of business cycles?

Q) _.ijMoney supply

b) Technology shocks

C) Psychologlccl factors

d) Fuctuations in investment

CA Mohinish Vora {(MVSIR)

Lesser savings— Lower investment-—

Low income & employment-s Low

‘effective  demand  -» . Overall

slowdown in economic activities =

b) More consumption  expenditure-
more demand— more production—
more employmeni & income —»
Overdll boom in economic activities

c) Increase in labour supply-» Lower
wage rate— Low income — Low
savings & investments —  Low
production— Overall slowdown in
economic activities

d} None of the above

a) Nocholas theory

) Kaldor Theory

c) Cobweb theory

d) Cobb-douglas theory
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Additional Practice Questions

“Economics Cha

Net foreign investment
b) Net foreign investme

domestic investment
c) Net domestic invest
d} Replacement expen

a) During 1920s, UK saw rapid growth in
gross domestic Product, produchon'
levels and living standards. -

b} Due to bursting of Information
Technology bubble . stock markets
crashed and countries began feeling
of down turn in their economies.

c) The Sub-prime crisis ted to chain effect
and it had worldwide impact.

d) The cycle business has seen «

slowdown in growth over a period of

time

The business where demond fluctuates

- seasonally. duse puilders
b} The business which keep on changingi- Agriculiure
their product. ‘d) Restaurants

c) The business whose fortunes gre .
closely reloted to the rafe.;
economic growth,

d) All of the above

Consumer spending on goods and -
services tend o rise

b} Business confidence tends to rise

c) Interest rates and profits tend to rise

1 d} Unemployment tends to rise '

a} Cost push inflation.:
b} stagflation
c) deflation.
d) demand pui

Inflation
0]_5Cyc|acc:2 b} Unemploymeni
b)* Counter Cyclicad c) Business cycles
¢} Fiscal Policy d) Growthrate

d} None of these
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a) Fashion retailers
b) House Buiiders
c) Restaurants

d} Washing powder

a) 1930
b} 1998
¢} 2000
d) 2008

Coniraction
b} Recession
c) Depression
d) Recovery

Economical factor
Social factor
Natural factor
Industrial factor

(a) Business Cycle
(b) Consumer Sovereignty
(c) Freedom of choice
(d) None of these

(c} Money Su ply
(d} Natural Factors .

a) {A) is true and (R} is false

b) Both (A) and (R} are true & (R} is the
correct explanation of {A)

c) Both (A) and (R) are frue & (R) is not
the correct explanation of {A)

d) {A) is false and (R) is frue

a} Pigou i
b) ‘Schumpeter
c): Hawtrey
d) Keynes

(@) Market Price
(b) Equilibrium Price
{c) Support Price
{d} Ceiling Price

Mak
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